Question Booklet No.

Question Booklet Code SLRC_ 2 02 2

C Paper : II

Roll No.

Time Allowed : 2:00 p.m. to 4:00 p.m. (2 Hours) Maximum Marks : 135

Before filling the OMR Answer-Sheet, the candidate must ensure that all the pages from 1-96 are printed
correctly in the Question Booklet. In case of any discrepancy, immediately replace your Question Booklet.

INSTRUCTIONS

Do not open the Question Booklet before 01:55 p.m. in the Examination Hall.

Read the question carefully before marking the right answer in the appropriate circle of
the OMR Answer-Sheet.

No candidate will be allowed to enter or leave the Examination Hall during the examination hours.

Any candidate found using unfair means in the examination halls/rooms shall be
disqualified.

Candidate should clearly write his/her Roll No. in the space provided in the Question
Booklet in case of using Non-Standard OMR Answer-Sheet.

Candidates will have to sign twice. Once in the Attendance/Roll Sheet presented by the
Invigilator on duty after taking their seats in the Examination Hall, and the other, at the
time of handing over their Question Booklet and OMR Answer-Sheet to the Invigilator after
the completion of the Examination. Cases where a candidate has not signed while submitting
the OMR Answer sheet and the Question Booklet, he/she shall be treated as absent.

Candidate should do all the necessary Rough Work on the Question Booklet in the space
provided. Rough Work should not be done on the OMR Answer-Sheet or on any other paper.
If any Rough Work is done on the OMR Answer-Sheet, the OMR Answer-Sheet will not be
assessed.

There will be one single OMR Answer-Sheet for all the questions. No extra OMR
Answer-Sheet will be provided for any mistake or correction.

The OMR Answer-Sheet will be provided along with the Question Booklet. Candidate should
fill up the particulars in the OMR Answer-Sheet, i.e., Question Booklet No., Question
Booklet Code, etc., carefully with blue/black ball-point pen only.

The Examination is of 2 hours duration and will consist of 135 questions of 1 mark against each
question.

There is no negative marking for any wrong answer.

Candidate should note that each question is given in multilingual form, viz., in Assamese/
Bengali/Bodo/Hindi/English medium/version for his/her convenience and ready reference.
In case of any discrepancy or confusion in the medium /version, the English version will be
treated as the authentic version.

Very Important :

The candidate should make sure that the corresponding Question Booklet Code is
properly written/shaded in the OMR Answer-Sheet by him/her. For example, if the
candidate gets Question Booklet Code ‘C’, then he/she should fill up ‘C’ in the box
provided in the OMR Answer-Sheet and also shade the circle ‘C’ in the OMR Answer-
Sheet. In case of any discrepancy in the Question Booklet, the candidate should
immediately report the matter to the Invigilator for replacement.

The candidate has to return the Question Booklet along with the OMR Answer-Sheet to
the Invigilator before leaving the Examination Hall failing which he/she will be
considered absent.
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o wiiemeff Tt TE *1 FTEH W (rough) HH T fEaehT § feU MU T 9T weh | wdieeff W
(rough) T IT-9 A7 31 Forell T8 & HITe W & HLFh | I qhienel ST-u9 WHE W
(rough) T AT 2, A T IT-T T JoATeh a1 a1 T |

o Tt Uyt o foru udiemedi ot shae Uk OMR STR-UH €t oo S | Tetdt §H R 91 Ig & &
for whtg riiter ser—v=t & fean wmem |

® ¥ If&ieht < T1Y T OMR IW-v3 fean smom | wieneff 39 fifdse OMR IW-93 # ¥
GfEent ., T GFETehT T I 3T HTHT 1 IS ST Torewor FraeTi & shadt el 31 el sicl-
Ui5e U | W |
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o TR 1 38 T8 T 3R OMR IT-T9 W hael el AT HIAT Sid-Tige 94 § |t FIAC
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Important Instruction :

o uiignedi 7z gHivaa o & foh 39k g1 W9 YRert &1 g OMR SW-UF § && &1 ¥
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JIER @R RIS 5% i TRIbRE Rieive 7w @R il @fe 391 &2
ST (IETBI TR :

A) foETs IH30F (B) &«
(C) IR 5 ISl A (D) T. [@EIF!

GISR BeItbd R SR (Pl PR Heitoq el =D Fifzal fbg FHE g
2R ?

A) TSETs 90 (B) =@
(C) =& AW Al 4 A (D) T. @&
BT "@YA o= (National Film Awards) A= fifafm stafien gagEsn s

(A) oo TR (B) 3=

(C) BTARRE =Agd Sy @™ (D) = SeEel

T fher Eahl H Teig Bier fher & gea 214 arelt Teedt srafi fhem off -
INIRENER GRS

(B) 3109

(C) T IR Sy @

(D) . SolereaT

The first Assamese film to be awarded the Best Feature Film at the National
Film Awards was

(A) Village Rockstars

(B) Aranya

(C) Halodhiya Choraye Baodhan Khai
(D) Dr. Bezbarua

IR Bl oIl efepfh Safes F59ee (2R :

Q) e B) @O

(C) Te=mIior (D) fseie wifgerfer

TOIFeTI2 Bl 9Tl (e (I SR ?

A fezare (B) @2

(©) Frptom (D) e sifefer

Ok 0]
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AehatTs grel fafsE T s sgr e ?

&) feme (B) SiETe

(C) fa=EmR (D) fergamry =Rt
TheATS I SATEYT eI fope TR A 8 7

@) forme (B) SiHEre

(C) TreEmr (D) Tergamny =feanfar
The Toklai Tea Research Institute is in which city ?

(A) Dibrugarh (B) Jorhat

(C) Sibsagar (D) Bishwanath Chariali
PTG T+ ol 2! DB (2 :

(&) e (B) NG

(C) fefpFmi (D) TR
ST GG TP ol SR :

(A) Frema (B) <2Alle

(C) ferfea (D) T
M THe &fe BT a8 ?

A) farerr (B) wSTETE

(C) fomgferan (D) TR
3T T Fholrdl Hf-eh Thel $H T H & —

A) T (B) wimetie

(C) fomgferan (D) TR

The only Sainik School of Assam is at

(A) Silchar (B) Bongaigaon
(C) Tinsukia (D) Goalpara

TPTY JiTene DR S Ten SHyiej<e 'S SRMES ?

A) ToE[ (B) sl
(C) =0 (D) IREEl
IR i BRearier o2t Sfen S @l ks 2
A) e (B) if&anet
(C) < (D) TAlRETS!
Ok 0]
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3T & JARATT TR SIeTf-ehet A3 §aT ?

(4) TE (B) A

(C) TaTERd (D) T

31&m U=y Tufearen a8 avwafd 3qam wgf @ g 2

(A) TR (B) shraficm

(C) T (D) TETeaR

Where is the Assam State Zoo cum Botanical Garden located ?
(A) Tezpur (B) Kaziranga

(C) Guwahati (D) Goalpara

SR Gl -5 FEfRS @G TREe 727 ?

(A) B) @

(C) Tl D) TR

focw Srafrerm W @ eriefen Giaesis Aedt R ?

(A) ST (FFGF #R) (B) o (@)

(C) TR0 (F*1%sir) (D) WD (GO

et se3n ety fs fifdamme (ife cycle) T 7

(A) T Y B) fud

(C) en (D) TR

freferfiga o & =i fodelt & Shed-=sp 4 & 2 2

(A) HefUer (B)

(C) = (D) sdie

Which of the following is not in the life-cycle of a butterfly ?

(A) Caterpillar (B) Eggs

(C) Pupa (D) Tadpole

T R ARG ST TOR SPIeTT el FIe ?

(A)  THAZTT FFABM ST (B) PR (oA

(C) ITEifE 12y (D) I ST

ST SIOR ASIFR TR (F FCARE ?

(A) TR FRAGT ST (B) frefer comiEal

(C) RIfGa F1Eg (D) =L SR
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RAH BT Rl 9 78t SFRHE ?

(A) TrEEE HEe T (B) fireh Sz
(C) wufsHt g (D) Wz 3
TR o TP &l ol feha fesire fepam 2

(A) WIEAEH HTHEE el (B) fumedt sishzan
(C) @S Tr=Ig, (D) TEET MR

Who designed the National Flag of India ?
(A) Mohandas Karamchand Gandhi (B) Pingali Venkayya
(C) Sarojini Naidu (D) Rabindranath Tagore

T S SIS @Ry el [f¥E s e 31 2

A) feoifie o (B) feoifia &
(C) TeBifm (D) TSOIRE G
TR 93RRI (&l [ShiRe RTS8 ?

(A) TeBifE C (B) il K
(C) febifiw B (D) feBif= D
A TR AT e fererfim em 2

A) ferf= C (B) faerim K
(C) T B (D) faefm D
e 3R stfae # ®H a1 foerfiq T 9 3 RIS g 7

A) faefm C (B) faerm K
(C) fefm B D) faerfim D
Which vitamin is prominently present in lemon and Amla ?
(A) Vitamin C (B) Vitamin K
(C) Vitamin B (D) Vitamin D

TITOR RHBIT LTSI e TSI el wifet ?

(A) Ry (B) frael
(C) &= Sheat (D) 5=l oICsT
(I SO TIRTMGS T2 @2 TP forcafeeeTa ?
@) feelw (B) feset i
(C) gl Bheet (D) <FgIeTl AT
010
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8. IIEMMETE UM WRa fifafm smestan @vmm 7
(A) fotor ot (B) fertor s
(C) e ATEel (D) e TFET
8.  3iaRe § S aTelt JUW W qet 6 ufeet & off ?
(A) fotor ot (B) fertor s
(C) HedAT TTaet (D) ShedAT HaAT
8. Who was the first Indian born woman to go to space ?
(A) Kiran Shaw (B) Kiran Bedi
(C) Kalpana Chawla (D) Kalpana Saxena
9. TG NINRT Ie< [Eere s 2
NIRRT (B) @920
(C) JIwizer (D) e
9. TG (ISR I (ST SIES 2
CNIRQIG I (B) w26
(C) I wrizer D) 9
9. TuTciiTe fprgariesn e fSemma g ¢
(A) TerETe (B) SRER
(C) sl ITATEANT (D) g
9. aTeiTe fprgd fopg forel & f@ 8 7
(A) TIieTETRE (B) SitEre
(C) et SRTEAT (D) Tia
9. In which district is the Numaligarh Refinery located ?
(A) Golaghat (B) dJorhat
(C) Karbi Anglong (D) Nagaon
10. CTRSMeq @R a2 5 S I2ifeq qrers Sz 3 2
(A) e (B) ¥F
(C) (D) 3
10. TTRSSICSR 9 (@1 &=l 79 qag 32ifer 0 iR ?
(A) o (B) ©F
(C) (D) 3
[E%[
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10. HFGERIH 99 T8° 37 g8 3T gewfd e Towe ?

(A) T TE (B) gk Uz

(C) wHuE (D) qu7-
10. HIHSH 1 A1 T8 9ot 3R geeufa o off= fea g 2

(A) HTA (B) IH

(C) =i D) 94
10. Which planet of the solar system lies between Earth and Jupiter ?

(A) Mars (B) Venus

(C) Saturn (D) Mercury
11. SFeT ER 4F[ TT0e S 5124w t=0® :

A) BTl (B) TR

(C) SRS (D) FreIie
11. SICSH @ B A0 ETR A TS -

(A) Izl (B) T

(C) SECMR (D) ST
11. TERTE EHTT YRAH 9« STRATET S1-TiES edleaT g ?

(A) gt (B) HEW

(C)  ihalaR (D) T
11. YRA 4 @ 61 @H & ST = 8 —

(A)  STTET (B) ®ER

(C) 3Thoiver (D) HIATEIE
11. The place associated with gold mine in India is

(A) Jaduguda (B) Kolar

(C) Ankleshwar (D) Kalahandi
12. T 0120 SRTS 2F SCH! “IRwiefs Sif2etq #197wwel fafee ?

(A) dleTRNE (B 9@

(C) SRfHo! (D) T
12. T 2T OFS 22 AN SRR K1 FEfe 2

(A) I (B) TH

(C) Er=FCHH! (D) THIEA
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12. XA 5« SR fifafem aramfas (Nuclear) ST 3G ARG 7
(A) EATHR (B) A
(C) siedieniar (D) W&
12. A 3 379 Tget ICHTY] 3T 3hT Teqor fohe Tore we feparm o 2
(A) TETER (B) g
(C) Hiefepia (D) W&
12. In which place did India test its first nuclear device ?
(A) Balasore (B) Trombay
(C) Sriharikota (D) Pokhran
13. g3 &b 509 1272 TRFH e 79% [Fie ?
(A) 209% B) 329%
(C) 2299 (D) 25 9=
13. (6 fFCFB 105 12 Mera TRAHH TS BIGe g F© ?
(A) 20 9M& (B) 32 9%
(C) 229 (D) 25 9T&
13. T fohehe fucdaTTa T faehef TIoRTa TS 3T 8@ ?
(A) 201" (B) 32amE™
(©) 227mEH (D) 25 Téd
13. fohohe fU= o fochei sh QI Wl h S HI QU TR 7
(A) 20T B) 32T
(C) 227 D) 25T
13. What is the distance between the two sets of wickets on a cricket pitch ?
(A) 20 yards (B) 32 yards
(C) 22yards (D) 25 yards
14. 2022 59 & ' (7 efSTRITISI <[ 5295 XIS (PIC SRS e ?
(A) TR FORE (B) @Bz Db
©) ToFEF T (D) S rCr
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14. 2022 = TP ST FACR GFF S0 (F TREATS AR 2
(A) TEIF AR
(B) TP BIbEI
C) ISR THIfeH
(D) <I=PICHeT TmleT
14. W 3AUA 2022 IE BRI SRY-BRI STEREHTETE @R QEHETd ST ?
(A) T HsT (B) wWwrE foafams
(C) reITeh SiTehiferel (D) The Tt
14. TorEH %ha 310 2022 T T¥Y Thdt ST ?
(A) TR B (B) weHH fafarm
(C) rareh Sepiferar (D) Thet TTA
14. Who won the Men’s Singles at French Open 2022 ?
(A) Roger Federer (B) Stefanos Tsitsipas
(C) Novak Djokovic (D) Rafael Nadal
15. [T Jreieq T 5 2
@) TR (B) It
(C) TTANGA (D) TGS
15. TS Al 2
(A) R B) =i
(C) T D) IHF
15. IN@EH TSenafisn sar ?
(A) TR (B) T=h
(C) &gy (D) T
15. @S 6 AU 17 ?
(A) TR (B) T
(C) <& (D) Tren
SLRC-2022/P-11/C 13 Em@_ P.T.O.



15. What is the capital of Jharkhand ?
(A) Raipur (B) Ranchi
(C) Dehradun (D) Gangtok
16. Tafore ST ST= (FIAG! Ho1tha SrlsN CIee Sios ?
(A) T TIEICAEN (B) WERAEE
(C) TuEs &FEres (D) I &FEree
16. 0 SRS (& SR HeTibd MR (e 29ifE) 7105 7o ?
(A) TSR
(B) SIRPCBIEEEH
(C) TTHF TR
(D) ISR
16. TEM 56 BRETE ATEYH G AleaT § 7
(A)  FhaIIAHH (B) 3TeRaTHE
(C) IS Hitead (D) g BT
16. Fr=faRea o @ % o1 @NER fhew g @ dafd 2 2
(A) TheTIAHS (B) 3TNFISTHE
(C) T Bitead (D) & HEIHT
16. Which of the following festivals is related to the film industry ?
(A) Rouketopolemos (B) Octoberfest
(C) Woodstock festival (D) Cannes festival
17. SR qM7e e @ik srok 270 269 @ik = ?
(A) AN B) =R
(C) Bfoam (D) =z
17. SR Q00 @ FEBINTTR STeitad &) sale @i 2@ 16 ?
(A) HEPEN (B) w@ifes
(C) e D) SRE=
17. U1 SHTEShTE AT @ 81 STRIseT Tefi=al S ?
(A)  hfcaam (B) FREH
(C) wifeam (D) A
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17. e gaR vieq # fefofea § @ foradh & srorgarg 2
(A) hfewrm (B) FEER
(C) wifeam (D) il
17. Goitre is caused due to the lack of which of the following in our food ?
(A) Calcium (B) Iodine
(C) Sodium (D) Iron
18. TSl YEHITRT PIga w1 1< wifee] 2
(A) A PR (B) T T
(C) Tarom qEmFR (D) iRt TEHHIe
18. =To YRR 1ol ( Tt 2
(A) AT T (B) =R T
(C) Tarom qrmw (D) felePTm T
18. ¥l HARIehi forbmm | ?
(A)  EHHTY HIIER (B) TCITY HIRT
(C) T TRt (D) U1 SETE TSRt
18. ofdl HIgeRt & frar i & 2
(A) TS HIYehT (B) =Y HIRHT
(C) itz wTweRt (D) #oft SrHTE HTweht
18. Who was the father of Lata Mangeshkar ?
(A) Dinanath Mangeshkar (B) Hridoynath Mangeshkar
(C) Jitendra Mangeshkar (D) Mani Prasad Mangeshkar
19. 2022 59 1 SREIST SR SRR SR @1 87 @ 2
(CNIREGRECT (B) [T =AM
(C) TRE G (D) & BT
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19. 2022 A 15t SIRIFICS I FSNE AgITS (& e ?

Q) < 5 (B) IRIT S
(C) TTMIFT Go! (D) T AR

19. 1st January, 2022 g am, ﬁ:ﬂs%g@?}? 3% aﬁﬁwﬁg@ﬁﬁaﬂaﬁ? 7
(A T faeted (B) = A&
(C) eHeg g (D) il sTged

19. 1 SHaA, 2022 S T TY 3G & TFafd HH & 7
A fue fades (B) s{Ieh A&
(C) sHS g (D) ST sTEed

19. As on 1st of January, 2022, who is the President of the United States of
America ?
(A) Bill Clinton (B) Barack Obama
(C) Donald Trump (D) Joe Biden

20. 59 Afoo® ARATIRR 23 AR TS 2
(A) =S S RS e 7T e
(B) Iz I foiqel
(C) Tl ferger 1 72a Trfs ST
(D) Iea FIfer fordi=et

20. 15 sifree PH=iteneT @ = AHbs
(A) R 93 I T =Y
(B) N2 T
(C) «fb eI fagrers g u 1%
(D) (6 I TFHaT

20. i TR UTSATTIESAT MR B Se i arar e 2
(A)  FEH IR IEA TR THUTE

(B) R F oA
(C) T ImETfRam (s SRR TS O™ g
(D) sEAN A
(=7 5]
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20. i T UEYTIRE _ h AU SIAT AT | |
(A) g IR & d= gl
(B) I3 HH
(C) T THHIV B h1 YI13AT o= qag
(D) T I HI &THA
20. Greek Mathematician Pythagoras is known for
(A) Distance between Earth and Sun
(B) Value of P1
(C) Relationship between the sides of a Right angled triangle
(D) Area of a circle
21. P el Reafmgier (i oiRe wefEs ?
(A) TRt (B) Tze
(©) =G (D) e
21, SPICE e fesfmier (e oS ?
A PReTeE B) fT=Iw
(C) wWizB (D) TR
21. STHEM TSI IhAIATATA IS S&I G 7
(A) TR B) fesrme
(C) SiER (D) &Y
21. 318w igen favafomme wef fem 2 ?
(&) FreErm B) fexme
() e (D) e
21. Where is Assam Women’s University located ?
(A) Sibsagar (B) Dibrugarh
(C) Jorhat (D) Lakhimpur
22. JJIN7[F SIRATT SPTR CICS (P TS TR FC= 2
(A) THEH (B) et &t
(©) e (D) o=
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22, JARNF I ASHH ST A0 IS I AR ?
(A) WEEE (B) Sr<eelloe] &
(C) fesm (D) AT
22, RT3 STHMHE! §9 TS /AT ?
(A) Hae™ (B) 3TRUTEA T
(C) HfTg (D) @M e
22. L fop U= b1 370 & Shear g ?
(A) wETeE (B) IS He
(C) =R (D) ufEm e
22. Which state does Srirampur connect with Assam ?
(A) Meghalaya (B) Arunachal Pradesh
(C) Manipur (D) West Bengal
23.  fafeT<re (pler<e D2 11 T wieE ?
&) I (B) T e
(C) il D) g
23. T SRS (FIN *=0H AW I SR 2
@A) e (B) T fra
(©C) TRt (D) Tof#fleT
23. T B 9 FNET el F3L G ?
(&) e (B) e feeeh
(C) hICThIeTl (D) e
23. frefafaa # @ ford wret & v Al seumE R 7
A) HrH (B) = feeeht
(C) HIeThrl (D) WA
23. Which of the following city has a sea port ?
(A) Cochin (B) New Delhi
(C) Kolkata (D) Bhopal
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24, ATIPE SIS 27 Fe F1 SPTNT LINF! QD @ Sifed ?
A fEiwm (B) ST IR
(C) TP ©TIHTE (D) TSICoME T4l
24, SPIN AT 2 (I SO AR SAAE 7 & FCARCE ?
A fEiwm (B) FSHTHT FaCai2®
(C) W3 SEIHH (D) TSITamd 3
24, <A1 A NI SEHARARTE MR sAfRgse i fed SEHEHE geam
R ?
(A Temiem (B) el STETS
(C) feurert wgram (D) R &
24, HgeRTeliA 3Tl | Ugsh Sfa-aret 3780 & Ugel Tl i 8 ?
A) femem™ (B) i swilErs
(C) et wgreITSit (D) HIZeR el
24. Who 1s the first athlete from Assam to win a medal in the Summer
Olympics ?
(A) Hima Das (B) Lovlina Bargohain
(C) Dipankar Bhattacharjee (D) Bhogeswar Baruah
25. I ICgPIeTS IRYF forsfiel 91 (2 |
(A) =oftre FudKRE (B) =ftre Rrbrz
(C) =ftre iverm Piee (D) =ftne ewe PR
25. 9299 feifif 2arfeet S AreCe TR ?
(A) IS T PR (B) =S f7 Picg
(C) =Fefme Aicepss Pice (D) =Ffe e Picg
25. TO@! R TSGUTH |99 TR JEHH ?
(A) Ties &g fHg (B) ics i fog
(C) Eics To fig (D) ics wwa fég
25. TER e i o SIrEHehTel § g7 o |
(A) i3 &g fie (B) wrics R fég
(C) %ics TR fig (D) werie3 w fie
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25. The Rang Ghar was constructed during the reign of
(A) Swargadeo Rudra Singha (B) Swargadeo Shiva Singha
(C) Swargadeo Rajeshwar Singha (D) Swargadeo Pramatta Singha

26. TaferfIe welmRa (e SARGR TR ?

(&) YR AERP (T (B) *<iZHIG 7o,

(C) T[RRI CTg (D) FERCSIHAT CTg
26. 1 SEfie @ orgl waiba frebadt 2

&) grF SR 6T (B) Rz oTg

(C) <RERE T (D) FERITSHE T
26. TERTE g §¢ ST TATER] QI ?

(A) i ESITRh 3 (B) e g

(C) AR &g (D) hIfcTETHImRT §g
26. TfcTRad o & o |1 I AR h UE 7 ?

(A) ¥ g 3 (B) IIIEETE I

(C) TR &g (D) HIfCTATIERT &
26. Which of the following bridges is near Guwahati ?

(A) Bhupen Hazarika Setu (B) Saraighat Bridge

(C) Naranarayan Setu (D) Koliabhomora Setu

27. frfeiie Qe RIGIGIE %ot 3T2s fowoss (@i S6Reis «[1i ?

(A) 3o REGR (B) S REGE
(C) Toare fAEGR (D) Slfmal AR
27. G SRR 0 @0 ibeTes S fREhEs 7 ?
INIRGRIESERRICIDES (B) wIRIZ RIEAGR
(C) Toare fAIEGR (D) Sfmal AR
27. TERTE BAM s iR wafmmieT safrgger memfE ?
(A) hifER fraer (B) 3maTe e
(C) 7T foRrer (D) Y R
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27. TfcTRad § S A1 AeTse UK (YTRET) YE Hod U1 ?
(A)  ifeR free (B) e forae
(C) et et (D) wmeres forgex
27. Which one amongst the following mobile theatre (Bhryamyaman) groups is
the oldest ?
(A) Kohinoor Theatre (B) Awahon Theatre

(C) Natraj Theatre (D) Bhagyadevi Theatre

28. “S7 TR SRR G Fo b (@ICT SRl Fes ?

(A) T P SoREE (B) @I (E<edl
(C) Fpep Il (D) ~IRfs epiv Jel
28. T Y QI A (1”@ 3JF o= FCICRe ?
(A) TN SRSl (B) PRI (el
(C) Reeriv rel (D) S epTm I
28. 31 AR YR <’ H IR S8R ?
(A) HHAT JETE ATETAT (B) ALHHIY STe®3T
(C) fersuy srmg T (D) Tl TS S
28. foREA “3T HIX STUHR g9 <Al ¢ < ft 2
(A) HHAT JETE RETAT (B) ALY SSTarea
(C) ooy sy T (D) Te ST SRl
28. Who composed the tune “O’ Mor Apunar Desh” ?
(A) Kamala Prasad Agarwalla (B) Laxminath Bezbaruah
(C) Bishnu Prasad Rabha (D) Parvati Prasad Baruah

29. ST T T (202 :

(A) TN (B) =@
(C) TETH (D) <=
29. SIS 34l 267 :
(A) 2T (B) 2@
(C) TeTH (D) <
EHmE
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29.

29.

29.

S Y- a7 ?

A) I B) =
(C) <R (D) &
I 61 g1 8 —

(A) I B) =
(C) IR (D) &=t

The currency of Japan is
(A) Yuan (B) Yen
(C) Dollar (D) Ruble

30.

30.

30.

30.
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AT TAER TS I e ey ?

(A) 3R @EFRIF feire wefiEs 9 79907 |
(B) 3 etz I =Nieeq GOl “q %% |

(C) 3 T2z oz T5a8! @ 27 |

(D) 3 TR TRENS fEeifes «F el SreREey|
o Siie @ Sfef sifaeat s ey ?
Q) 9 FFCRIY (&R G5 *129 |

B) @b IR FeR @7 G SRR |

(©) b TozPares 638! «ls 20 |

(D) «fb TRefie (TR G0 FA TSR |
TTETETE BT S ST G Jeiarg = ?
(A) T ST e @ TR

(B) T shreff SATTeAIT T BTSIET @ X

(C) feri fesre @ty Aia faen

(D) Tern wdintrer frenty Rt st f58 frranfer (Wildlife Sanctuary)
faffga d a e o afsqus s g @ ?
(A) I8 HIHUFR el H T I 2 |

(B) g el SATTEANT H Tsh Yaid @R B |

(C) iR suaTHAaR |

(D) g TriTie fe 1 weh a=siia SR B |

040
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30.

Which of the following is true about Pobitora ?

(A) It is a town in Kokrajhar district.

(B) It 1is a mountain peak in Karbi Anglong.

(C) It 1is alake near Dibrugarh.

(D) It is a wildlife sanctuary in Morigaon district.

31.

31.

1942 51 SIS Ol HITHIETS IG5 7|feTls Fepere] T v FIFred LorE oyl F41
IR (=R :

(A) =T (B) ToEd

(C) WG (D) wiReeH

1942 99 SIS RICY! SCHIEICR I (i ZIC IH*1 T Fpere] (3R T PP
o1 I To) TR 2

A) 1=« (B) To&d
(C) wiFargf (D) Hzoufs

31. 3 1942 HARYNMN “YRA IR AHEERART ffes gietast sasharal 3T THg HiehidiaE!
SR MIYREA ?
(A) TER (B) TR
(C) efeparyett (D) A&
31. 1942 % WRA B! e | forfest gferd 3 shasherar 3T qehe hreha! hl Tt AT g
Topm T T oft 7
(A) TER (B) e
(C) ehrmfe (D) FmEdTd
31. In 1942 Quit India Movement, the British Police shot dead Kanaklata and
Mukunda Kakati at
(A) Gohpur (B) Tezpur
(C) Dhekiajuli (D) Ahotguri
32. “SpTIRI SRl afe Tor «ifer 512 o/ TR W A6 (202
&) e (B) I
(C) 9l D) R
32. “SPIAml ol Tafe TP, X ZG @ *17 Wareld 7 F9C3 C1i 281 -
&) e (B) I
(C) == (D) R
A
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32. TERE §HE 96 TGS gSH 191 Giare ST 9N 3 G911 31 ST 2
(A) Frff (B) =gt
(C) =H (D) fome
32. 98 3&g I “ITEHAT 9T AT AT | TE @ E W |
(A) @Rt (B) wgqEl
(C) ®RHA (D) oA
32. The word that would correctly fill the gap in “Oxomiya Bhaxa Unnati _
Xobha” is
(A) Xadhini (B) Bohumukhi
(C) Koron (D) Bistaron
33. TP IR P SRS &% Fesple IR 2o (Fic for2 Serizfee ?
Q) I (B) TS Tl
(C) ¥ FHfet (D) A * P
33. QT AR SPINRI ST A1 AR @ RICIRCeT ?
(A) TN TSI (B) TS Il
(C) k= Fwetl (D) NS *=FA
33. TR T3S TeHifeh THTAU GHEATSHIE Huieh1vg TRV ferfiis | 7
(A) TH gL (B) 3= et
(C) IYE sheed! (D) sfiva TeRtea
33. 3G | STeHth THTVT 1 3TATE “THehTS THR0” fhem forat o ?
(A) TH gL (B) 3 et
(C) Y et (D) #fiva wrehica
33. Who wrote Saptakanda Ramayana, a translation of Valmiki Ramayana in
Assamese ?
(A) Ram Saraswati (B) Ananta Kandali
(C) Madhav Kandali (D) Srimanta Sankardeva
34. SPINAI SII & SICEb] “SFEMS” TRl D12 71 2IpIfre C2fee ?
(A) @D (B) M=piE
(C) ==gHHl (D) PRARIE
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34. ORI ST & “faS! “SFCATE I (A IS ZaEfRE ?
A) w@2o (B) f=etelg
(C) TR (D) PTG
34, “IeArers” g afyr smafien vaft i sefwee fogrm semm 2
(A) SiETe (B) foeemm
(C) HretRfean (D) TR
34, “ITEUNGI” UgEH STEMHAT TN <hl qfeht Teh1fird 8% —
(A) SREEd (B) fremmra
(C) ATEtehican ¥ (D) HIHTAR Y
34. “Orunudoi”, the first Assamese language magazine was published from
(A) Jorhat (B) Sibsagar
(C) Naharkatiya (D) Kokrajhar
35. A B! 2l 22N SPINT T4 1T CRCR
(A) TN O IrFn (B) @® T s 220
(C) SR *ZHAI (D) ST™ IR TGRS
35. @I SPIAI ETF R @A 2[R CIRRE
(A) 11 = CoIFT (B) TR wAwE o&fb
(O IRSSEQIRRESR (D) 3" FAIF TG
35. FEMS S AT &Y srafien forfifen e
(A) T TEE T (B) 39 g AT
(C) o Afeha (D) fots Fur wem
35. FUIS JERR UTH i aTel AW ST 0@ & —
(&) mft Thorem et (B) 8 oTt gt
(C) o AT wIghra (D) S5 AT g
35. The first Assamese writer to receive the Jnanpeeth Award was
(A) Mamoni Roisom Goswami (B) Yese Dorje Thongsi
(C) Bhabendra Nath Saikia (D) Birendra Kumar Bhattacharya
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36. I @RIGF WY IS S et Zoia eifsdt Ffee 2

(A) =ofmre ENSe ez (B) Foftne FuPiR
(C) Fofmrs PPz (D) Fofme 773 Pz
36. TRZIGE SN AT 7 Areaiel RO (& @ifed! Feafcen ?
(A) FATE MR PrrE (B) =frC ww Pigz
(C) =S P Prez (D) FSf® 7w ez
36. TR 38T TThI e TAYTE e TR THES 7
(A) T Tty fag (B) w@rics &g fig
(C) wrics i fog (D) ics To fbg
36. TohHe SIETE o1 3MTEm THTSy <61 3ifam Totem o &9 | wefud fepam 7
(A) Tl Ty fag (B) w3 &g fie
(C) e fira fire (D) TS [ e

36. Who established Jorhat as the last capital of Ahom Kingdom ?
(A) Swargadeo Gaurinath Singha (B) Swargadeo Rudra Singha
(C) Swargadeo Shiva Singha (D) Swargadeo Purandar Singha

37. TID AT PIRZPITS SICIIRE I 20 &1 TR 71 <6 wifees 2

A =@ PR B) fmfes
(C) WFRS (D) FEE
37. TIIL S PIR2PIE SRS TR 2[4 AT TR 79 i fee 2
(A) TaPRE B) fmfae
(C) RS (D) IHUR®
37. &9 UShICRM TS HEHHSTE TR BT TS FRAR=T H371 71 6 2
(A) TiEE (B) favafom
(C) UeRiead (D) weeted
37. = U 6l el W 3 B Uged TSAT AR Bl &1 9719 AT ?
(A) THE (B) foreastia
(C) i (D) Heeted
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37. What was the name of the king Naranarayana before he ascended the throne
of Koch kingdom ?
(A) Nara Singha (B) Biswajit
(C) Shukladhwaj (D) Malladev
38. feraferire (e Sfenss +11S! Tfewa Trzael Ficet o1¢l 1 72F ?
(A) o7 o= (B) 9N o=
(©) > 1% (D) ey o
38. Ty Srapire sirasfer oy (A “Afwib! siites Snregel fReie feafbe =i 2
(A) e B) =
(C) =iz (D) e
38. TR e fahia feremms -t wrgwit fafefy Ter 2
@A) @ (B) et
(C) s (D) grfet
38. TfciRaa & @ = o1 Ug ot et w1 3ETEl & 7 T | 7
A) ¥ (B) 3™
(C) W (D) ey
38. Which of the following trees is not considered as an example of deciduous
vegetation ?
(A) Sal (B) Mango
(C) Pine (D) Simalu
39. SIS (I AMAIES efsdret i wifee ?
(&) TR (B) TsRARA{!
(C) IS (D) =
39. SRICS Y9« AT 2lfoviel & ?
(A) R (B) Tm-*r2 g
(©) IRT (D) S
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39. TS AFSIE! HRATE TSR 9r ?
@A) T (B) e gl
(C) == (D) 3
39. WA H YIel HIHTSA o IA8TIeh hid I ?
@A) T (B) e gl
(C) =M= (D) FAH:K
39. Who was the founder of Mughal Empire in India ?
(A) Humayun (B) Sher Shah Suri
(C) Babur (D) Akbar
40. IRIF, AR ¢ ORIEES TS LFFPRRS (FIG! T 2l Ko Tesme 4l
?F?
@A) wErife (B) freFm=fe
(C) wmfe (D) o=
40. IR, TN, ST LTSI (Pl T AP KL TLeAMe F ?
&) e (B) I «fe
(C) wMfe (D) ch=fe
40. HeATFHH, T R TR TEATRG (Project) 37€ 5 F@THHBRE Hifsctera! @mfs grn ?
(A) ¢ Hifss Tl (B) weHTOTSre TiTEl
© g (D) "R
40. HeITFHH, T IR AR THESHTE i & Hid 8 forsreft 1 Icame Hid 8 ?
(A) 5 e (B) IRHTY Sl
(C) g It (D) RSl
40. Which source do the projects at Kalpakkam, Narora and Tarapore produce
electricity from ?
(A) Hydro power (B) Nuclear energy
(C) Thermal energy (D) Solar energy
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41. 2[e o2l [ fofey «fa siamrza el =l 41 =, 12 72 4 (2= :
(A) o, Ped, T af (B) T, o, 2wer o
(C) T, Terrard, famperf (D) e, e, (et
41. RS @ Foafb 4Gl7 o T Kol 41 =3
(A) o, Re, 27T ot (B) T, o, 27t o
(C) T, T, famerf (D) e, e, (et
41. TG 99 HFW G0E TRIEI A g9 7
@) Te, @, serm (B) dig urm, fowg, seem
(C) g arm, 31 9rm, fag (D) f&g, frg, =g g™
41, TSN 1 T et 1 G T S R —
A T v, T v, sam o (B) dtg v, feg o, s g
(C) g o, 5 o, feg ot (D) feg a, frg o, stg ad
41. Hajo is considered as the confluence of the three religions :
(A) Hinduism, Sikhism, Islam (B) Buddhism, Hinduism, Islam
(C) Buddhism, Jainism, Hinduism (D) Hinduism, Sikhism, Buddhism
42. TR afefifrg ST AR Fafie @R TelR Afs-REE T i Aem
3 ?
(A) T O ATS (B) TR
(C) b RITR 7 “RIE! (D) 2 FRfoel SIS
42, 0 SERSTR & & FANomae e ZETE o Feefd elfsfiig w6 ?
@A) T SRE (B) TARRA
(C) o5 TRIBTRA = RN (D) 2 fodioe S
42. TERIH ST g METRE! HRATI “3AFR @ formr 2
(A) TrEsTR BEEY SRR (B) <R
(C) st fefomanterts s fafsrfi (D) Toreamit femmsatyr =R
SLRC-2022/P-11/C 29 Em@u P.T.O.



42.

42,

Frefefiaa o @ s SHfEd o1 Afdiie s o g gemEm forid g 2 7

(A) T HEI ST (B) wreHuTe

(C) 3= =TT % J& e (D) & Hater g

Who amongst the following is the ‘anti-corruption authority’ to represent the
public interest ?

(A) Chief Information Commissioner (B) Lokpal

(C) Chief Justice of High Court (D) Chief Election Commissioner

43.

43.

43.

43.

SRSRI TR GG P SeTe Teq FRT 7o) TR “fm (NCHAC) (0w
e ?

(A) I P! (B) %65 Sl

(C) o3 SpIDl (D) TSPl

SRS IR (I TP S Ted IR #A4ey FRrel1FTe sifeam afde zafee 2
A) e (B) 1% 7l

(C) =B il (D) T v

TTET HISR ISl ARG MYHE! TRATR FfSfaf 59 S T e ¢

A) w7 (B) w5y

(C) Wit 8fx (D) w6

Tfagm 6 75 31EE % q8d I HBR Y T qivg (U609, TH. ) &1 e T
™ 7

(A) @l ST (B) il a1t

(C) 3ol Jrges (D) B3I g

43. Under which schedule of the Constitution of India is the North Cachar Hills
Autonomous Council (NCHAC) formed ?
(A) Seventh Schedule (B) Fifth Schedule
(C) Eighth Schedule (D) Sixth Schedule
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44. STARETS R TS I (4 91 27 2
A) TR (B) =SS BT
(C) T o (D) e Oy
44, SRS SEGR (I S0 91 27 2
&) wETgl (B) “ARIC G
(C) DI (D) e oY
44. FH IECE GUETETR OT SIS ARATRTE Wray ?
(A) TEenE (B) &
(C) WIS 3FEA (D) T9H EEA
44. 3 QA AR R fohw &7 F A A B 7
A) I (B) &t 3R A
(C) =Mad (D) THae Hem! §
44. Which region is Jhum cultivation usually practised in ?
(A) Wetlands (B) Hill sides
(C) Char areas (D) Flat plains
45. Iz &TZ SIS (GFIFEG! WA [KFTa 2foqm ARGE SRR Siferiaie] qiol 2e5peT
feq iae tafws ?
(A) DI B (B) et =iz
(C) WTe-ReBl REN (D) TSHAeR 2% Siferp!
45. Io% #iPre SRS @ BT e FAC SeTo! FTTNESIE R 1= 2
STl R ?
(A) AT FEHT (B) &=l =iz
(C) ot Tl 1e=IF (D) 72 oI5 Wertl
45. fafew arafy 99 sm=f S don B it siferamaren Smete s SheEe ?
(A) HIgHA A (B) {erd 31
(C) - e (D) WA BT HATATET BINATS
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45. ffes wra & form arfufoam & fotte & Sfcrmaren s gcmepis 6 ofte 3ogl 58 oft 7
(A) HTEHT HHIH (B) et T
(C) =l el gum (D) g fratees teet
45. Which Act of British India had the Jallianwala Bagh Massacre crowd gather

to protest ?
(A) Simon Commission (B) Rowlatt Act
(C) Morley-Minto Reforms (D) Separate Electorate

46. SITS I STPT) BIC3 TS T2 (B! 5 53¢ FCH! LTS 1= 2
(A) SIS qe 91 27 AR
(B) 1 25 T2 T = AR
(C) SIeA @I GF AT A2 (Soniel 2’7 =i
(D) 7N A *RIRA “A9rEFre TG1f 27 FNfR
46. ferca SRR W0y (I Tl ©IFCST oM AT RS &) A7 FH0O A Al 2
(A) SRFST TN 200 23 |
(B) 3T 25 IVTER N 20O 2RI A1 |
(C) SRS @ I 5 GeTFiE CSibR 208 2F |
(D) W B #5120 B |
46. WA3TE THCH SEHET STHI TREH o Irgms =iy 2
(A)  WRAH TR ST
(B) 25 TER o MY g3 ST
(C) YRt SRifg St gafef+ femms@un (Voter) SR
(D) @l 10 T 3=Te3tre SfUERa™ SR
46. WA o GO Tgw s o fore fferfaa o & form e 1 QU 3 <Y STavashd T B 7
(A) Y =T ATTIER BHT SET |
(B) 25 a4 ¥ HH 37 I T8l SHT A1 |
(C) Wra h el oft frrarfert &t o wereran &= =fee |
(D) & 10 o & s qhien I<hol sl 2l |

[=lE =]
4
srilEl
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46. Which among the following criteria need not to be fulfilled to become a
Member of Parliament in India ?

(A) Must be a citizen of India.
(B) Must not be less than 25 years of age.
(C) Must be a voter in any constituency in India.

(D) Must pass class 10 level of examination.

47. T3 AP GG OIS (2@ G @ fersfier T 2

Q) T (B) wr2FE
(©) T R (D) TR
47. @ A= SRTe Al HF (SwieR oI “Ifkibe) Al i weafecer ?
A) S (B) @
(C) T A2 (D) [ =12
47. VRAH Geran “Ueg ¢oh U™ W TR THTAT SIHeHM 7
(A) IHT (B) e
(C) FI9-3a-3H U5 (D) =E Tl
47. Torm TETe 4 WA I (SRR €9 8 F1q) TTE b U 61 fwfor femam 2
(&) IHT (B) i
(©) BIIH T (D) e gl
47. Which Emperor built the (popularly known) Grand Trunk Road of India ?
(A) Akbar (B) Jahangir
(C) Qutubuddin Aibak (D) Sher Shah Suri
48. SO R BT TePIOrS et TR (TG TGS T ?
(A) BlesE (B) =Col
(C) TafeEt D) =i
48. G SRR T (@0 SRR MR SRS SEH 1R TGS 717 ?
A Mesif (B) «Cel
(C) T (D) I
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48. VAT Gifd ezt SiiEme e 9¢ Y37 SHeRENE ?

(A) T (B) =g
(C) nfereft (D) et
48. Tt & & F 1 9T F HAYH ¥ FER e g § e T R 7
(A) et (B) el
(C) Hfeft (D) et

48. Which among the following is NOT included in the Eighth schedule, as per
the Constitution of India ?

(A) Santhali (B) Bodo
(C) Maithili (D) Karbi

49. A} I5! S FI AT AR SO A IR € @RBPICRR

(A) Smee! B (B) et al
(C) Srfey O oI (D) fofeT erel qamtal
49. &% SN A IR @R @12 R A&} 7mR e
(A) vEES! TR (B) ettt (it
(C) SIIfey =l ColF=ISt (D) forlel erer =mee
49. vrsht s v fifafm stafien sreererums i smi ferfifen ar 2
(A)  T=u afeaif (B) =fert sme <t
(C) Tt TgEm et (D) e v e
49. A TEHR S el Taelt i wfee i 3R ifges off -
(A)  =IgHuT Afepart (B) ferh sre et
(C) wTHf} gy T (D) Tiet g SREets
49. The first Assamese woman - a poet and author — to win Padma Shree award
was
(A) Chandraprabha Saikiani (B) Nalini Bala Devi
(C) Mamoni Roisom Goswami (D) Nirmal Prabha Bardoloi
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50. SITST (@I EHT 271 B SCHIETT STl C2/ee ?
(A) Tedy (B) f&imet e
(C) = (D) fofew
50. SRCSH G A0 AT STwEH Seo 2R ?
(A) Teds (B) f&ivat e
(©) =M (D) frfew
50. “Faueh! THTEHTART YRAH oo TSNS TR SHHE 7
(A) ITETE (B) fewmeet gem
(C) =mn (D) Tafern
50. WA < Toh8 TSI H Yo ®9 9 FIUhI STGIe TR B3 o7 ?
(A) FTHEE (B) =t wem
(C) zf@mm (D) fafern
50. Which state of India did the Chipko Movement originate in?
(A) Uttarakhand (B) Himachal Pradesh
(C) Haryana (D) Sikkim
51. ARIENE (TRFE % IRl o) 2 [Fels<e @in 512 fof¥ Sfemigfee ?
(A) [T (BTG TN (B) IS SR
(OERICERIRIN (D) SIREws 75f
51. TSI (T el orr 34y 736 @i fercafecem 2
(A)  #[CT @R SRR (B) TERSAMT! SR
(C) ity FIIaNg (D) SRGM«9S sl
51. SETETA J&3T femhat) 31 sfean’ fosmeat @t fommm ¢
(A) o fire SieETe (B) e AT
(C) oM STt (D) 3TEHETR fehett
51. TS HeE A Tewhatt 31 $fean qweh et fora off ?
(A) Ul EHgel S (B) TEQ A
(C) 3MIA (D) 3TEHETR ekl
51. Where did Jawahar Lal Nehru wrote the book ‘Discovery of India’ ?
(A) Pune Central Jail (B) Yerwada Jail
(C) Thane Jail (D) Ahmednagar Fort
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52. TR DR (FRe FN foTRd 10T & W G o1 iz ?

A) ToEF (B) @2b
(C) R (D) P
52. ToICx S@ERrerm T @ BE 5 & (S1aiferss e (& =012, 5rie) TR ?
A) ToEd (B) @20
(C) =TI (D) e

52. TERMH §¢ JIRAET § TRAEE AR §AE g ¥EE yAEEei foFemnn
(Geographical Indication) 3 qHgl ?

(A) TR (B) SiEwe
(C) wEmgR (D) forem
52. freferfaa o @ fopm e =61 o<t & fow GI ey g3 & ?
(&) TR (B) @R
(C) MR D) e
52. Which among the following places has received the GI tag for its Litchi ?
(A) Tezpur (B) dJorhat
(C) Lakhimpur (D) Shillong

53. fTferie @ o1 e Sei REe! IR FTFIF T I SIS 2

A) TG FIS (TIRITR (B) 6 et
(C) TG ACHID (D) 6 GIFCA
53. oI SRR TR0 (F SRR REFRIER TREE SR &) Ao 2
A) 7 FRE TR (B) 316 Pefeifer
(C) =16 ITHIH (D) =TE W[IFCE
53. TTERIH AR ge W TRATH AeAiUTg STeaa! Brameamre faerify fagmmty amar fafosmn ¢
(A) TS FelTsel SIS (B) e Ffarterd
(C) e HISvesed (D) et
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53. TmfaRaa o @ i i e yoreft § 3199 gumi & foe IS g 2
(A) IS TS Sererl (B) ¢ HHaTferE
(C) g HSese (D) @7E ebrel
53. Who amongst the following is known for his reforms in Indian Education
System ?
(A) Lord Clive Dalhousie (B) Lord Cornwallis
(C) Lord Mountbatten (D) Lord Macaulay
54. TIMCH! TC T T 'thr CIfbEE ik 93 (AFSPA) 52 (2% ?
(A) 1958 (B) 1952
(C) 1960 D) 1971
54. F CT! ROMISR O3 (AFSPA) F© At A1 =R ?
(A) 1958 (B) 1952
(C) 1960 (D) 1971

54.

EEEIESIRIC] ﬁmwﬁmmgﬁmﬁ’gﬁ AT (Armed Forces Special Powers Act) 31
TR ?

(A) 1958 (B) 1952
(C) 1960 M) 1971
54. GIE g TRy wfeh 1fifm (v.us.wq . di.u.) fora a9 urfiq femam mam o ¢
(A) 1958 (B) 1952
(C) 1960 (D) 1971
54. In which year was the Armed Forces (Special Powers) Act (AFSPA) was
passed ?
(A) 1958 (B) 1952
(C) 1960 D) 1971
55. SIOR MR @G SR T6I-7J7 S q1ey A2 [0 Wl 2Mi 509 ?
(A) =T 14 (B) Seqo=v 377
(C) I=m 371 (D) SeJo=v 254
55. SIOR T[T (I GRS Ted 74 elkred Arepefers Ko sw{im emia w1 =a@fee ?
(A) 14 R 4T B) 377 R4l
(C) 371 R4 (D) 254 T4l
E4E
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55.

55.

55.

TRATR FfafTafs o gwmEm ar-ar=i YAt TSSHBRAT = AT T gy ?

(A) TH 14 (B) Wl 377
(C) TH1371 (D) T® 254

R Gfrem o1 shid &1 317ese Yaik W & Tl s @Iy ool JeM id1 @ 7
(A) IR 14 (B) TTdg 377

(C) 3=se 371 (D) 3T<sE 254

Which Article of Indian Constitution grants special status to the states of
North East India ?

(A) Article 14 (B) Article 377
(C) Article 371 (D) Article 254

56. ANG *FIIE S B (Ol GFI%] A6 ! 6 G S ?
(A) =R G (B) Twalel
(C) D)
56. QNG *FANCIR QI G 28] (% 5 0I5 F AW /o 2
(A) =R 0 (B) Tl
(©€) omr (D) A
56. #H~ WTehiGaSI BIETE ST A HalH fGfRrTE YwEATsE! 71 g ffem ?
(A) FfpaT AR (B) &=
(C) T (D) WT=EH
56. T Yehled gRI AIh U fohT T Thieh! ATk HIET TS ?
(A) IR (B) I
(C) T (D) T
56. What is the form of the One Act Play, made popular by Srimanta Sankardev
known as ?
(A) Ankiya Nat (B) Yakshagana
(C) Tamasha (D) Bhramyaman
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57. [TEfTire ApTgag @< 51g “IF*o3ere SEiEs ?
(A) ST (B) I
(C) yEa (D) &FR7G
57. 0 Sralre Haesfer e (S ARow<es s[iEs ?
(A) =TT (B) I=H 7@
(C) 4 (D) wIFR7Tq
57. |HTE STTASTTE Y G G AT 7
(A) =TT oA (B) @@
(C) wrgquad (D) TS &
57. FeAffeada s oo M e g fRa @ 7
(A) =R I (B) wEiEd
(C) AqEEA (D) Siehts T
57. Which among the following Satras is situated in West Bengal ?
(A) Chamaria Satra (B) Baradi Satra
(C) Madhupur Satra (D) Jakai Satra
58. SPTX TS I 113 (FITCH! oS 2 2
(A) 7 #ql “R*53Ce (B) ~IF633 #a1 #<CeT
(C) Tesq “Iq| wfEpeist (D) WIS 21 TestE
58. ST IhvId O T (i e 2ifee = 2
(A) 7 @A AR (B) ~fow (A 7Icd
(C) Ted (AP wfHRCe] (D) A QAP Te
58. STTETHTE S AL SHEN o« ferret Sgarst ?
(A)  FESTSRTE TS (B) TSN M
(C) W et (D) WA TR
58. SIEIg el rem o forg fen d wgdi @ 2
(A) TS A ulEm (B) uflzma qE
(C) Il (D) gferor & 3w
58. Which direction does the river Brahmaputra flow in Assam ?
(A) East to West (B) West to East
(C) North to South (D) South to North
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59. T AN SIS ST = T (e i ?
(A) T. AW FITH (B) =% Il
(C) WfeToR TGN (D) ST R T
59. SPINRI AGRl SFCER IR I AT (& =i ?
(A) . J FIC (B) T2 b =Fl
(C) SleTol el (D) SN GRRTT T
59. SR ABH TG M e gIrm on dwe ¢
(A) . JUA STEA (B) &W =5 Sedl
(C) 3MfeTeR HeX (D) A= GfhaTel Fovrt
59. 3THMAT I ‘3TEUNCIS’ o YUH HUTGSH D & ?
(A) ST Y ST (B) &H=ig %l
(C) 3MfeTeR HeX (D) AU &fhaTet Fohd
59. Who was the first Editor of the Assamese magazine Orunodoi ?
(A) Dr. Nathan Brown (B) Hem Chandra Baruah
(C) Oliver Cutter (D) Anandaram Dhekial Phukan
60. SPT HIBPIAT SN e TR CTal 2q RIS PO SGes A S
AR5 |
(A) I (B) <P=at
(C) iR (D) SFHS
60. ST FHHICIA G &I A0 T2FS S S AN 2<pgl Pl G HAS 2
(A) ORI (B) f=al
(C) (D) TSl
60. ITEW TWHR F-WHT i< fafgu™ qegifgsne e sEeaRE 8FF
Tt |
A) IAEAEE (B) sg=u
(C) &R (D) Tt
60. 3TEH TLHN ! -Toed Taeft Farati Sl ASHIST ohl AT AT SEa &9 & S A1 & —
(A) 3OS (B) wger
(C) TRy (D) Tedt
60. The streamlining of Land Revenue related services scheme of the
Government of Assam is better known as .
(A) Arunudoi (B) Basundhara
(C) Sarothi (D) Arundhati
[=] % =]
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61.

61.

61.

61.

VB! SPTN S TR @I9RFET M FRYYGIA TISFBR A1 FFBR REeeem A 27
(08 e e sT=q (@l @bl wa Sfe =] ?

(A) TR oe 7RI Al 7Ry 27« |

(B) ¥ A 7B 91T I *+ 2T |

(C) b1 & R IRSTHI SCH! S FRE GICS A 27 |

(D) S FRIYGFIS TFS: GBI A *[[ 2T |

w25 ST <) RLIT @lerre (@5 AT @ TR (S [T T = O
e Seartire e i 37y 2

(A) 720 ofieiE A 722l 200 =J |

B) 726 SR @lorTsT A # = |

(C) GG 7Pl Sw1g ojef 7221w efiotens =33 |

D) 720G PR TS GG %+ = |

Sfe T T8 HEA VT SHANEIN SEEERT § T’ U SHSEHA U AEa e
GG Qe TTTETS I S qHH ST, J7ecll TR s s fogfy |

(A) T IARHT A= ffmant smfm sem T

(B) A= T IHSHT STSITeITEET SieaTgs A’ S

(C) WHETHE (inverse) AT G VT IFISHIST THM ST

(D) HHR T IERHIN TR i@’ SRR

Ife 31 JTEHE quifeh] T T THH 31 qUrfehl § & 9 T BI % T & S &, a1 Frfetfaa
Y HH A HAT TR R ?

(A) GHI qUTTeh Tehfceh TEATE BT <R |

(B) I quTiehi 3T AN GHIM I BIAT 2 |

(C) T qUIfeh o1 FTaci™ GE qUTIeh o SIS BIAT & |

(D) T YUITHI H AT Y HT TH IR |
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61. If the sum of two unequal integers equals the subtraction of the smaller from
the larger of the same two integers, then which of the following statements is
correct ?

(A) The two integers must be Natural numbers.

(B) The sum of the two integers is always zero.

(C) The inverse of one integer equals the other integer.
(D) At least one of the two integers is zero.

62. I <Ol fqges Rofibl A (&< tam 2.3 (5.7, 20 R.M. =i 23 RN, | fagsiihl ez
@0
A Frre fags (B) T fage
©) A faew (D) e fage

62. 3 fqgre feafs I el 2.3 P1LI., 20 .. @3z 23 RLAL | faoeTs (0 :

Q) e fogs (B) Iz fags
(C) T fagw (D) W fage

62. HNY ARG UM ARG THIMA aEemEsT 2.3 1.0y, 20 fu.fu. s 23 fafy. «
STTETRIUTH 3T STET
(A) TaF A a2 sraTrem™ (B) HHM @ ARSI
(C) Ty ImETfrum (D) RIS AT I

62. T st 1 <fiF emai i @ers 2.3 T, 20 A, 3k 23 . 7 | v g -

Q) favmsTg Brepmo (B) wHYS Frepror
(C) GwehIv Pt (D) wwigsTg Brepror

62. The three sides of a triangle are of length 2.3 cm, 20 mm and 23 mm. The
triangle is a/an
(A) Scalene triangle (B) Equilateral triangle
(C) Right angled triangle (D) Isosceles triangle

SPACE FOR ROUGH WORK
[
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63.

63.

63.

63.

TR GOIF (AT AN (2R :

A) % x (F O TR @lofeaT)

B) 2 x (39 ORI eI @Ia=Fe)

(C) % x (5 OIeT CTfT SfaerEe)

D) 2 x (F° Tl (eI 7[<eIe)

Qo TR AT

&) %« e vzt e o)

B) 2 x (F4 727 TR @lazre)

(C) %x(ﬁs‘f‘ﬁ%ﬁm@W)

D) 2 x (34 7207 TR @)

TEH (Rhombus) TsAT3RIT STER™

(A) %x(ﬁﬁmﬁmmﬁm)
(B) 2 x (fafy wERE! g e geTeT)
(©) 5 x (ufy wTaT < e ETTR)
(D) 2 x (faf7 TETE! SR wEeE TsTT)
A 1 SEthel ST BT 8 —

(A) % x (5% 2 Farst o e a1 )

(B) 2 x (34 < fereputt &Y 1&g o1 )

(C) %x(sﬁamﬁﬁﬁmﬁww)
D) 2 x (39% g TerehuTt 1 ASTE BT UHG)
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63. The area of a Rhombus equals
1
(A) 9 X (sum of the lengths of its two diagonals)
(B) 2 x (sum of the lengths of its two diagonals)
1

(©) 9 X (product of the lengths of its two diagonals)

(D) 2 x (product of the lengths of its two diagonals)
64. 4IfeT 512 57 F41 : 149,600,000 = x 107

(A) 1496 (B) 149.6

(C) 14.96 (D) 1.496
64. Iz 51 9 : 149,600,000 = x 107

(A) 1496 (B) 149.6

(C) 14.96 (D) 1.496
64. Wt ARG 37§ W™ : 149, 600,000 = x 107,

(A) 1496 (B) 149.6

(C) 14.96 (D) 1.496
64. T&h T &1 W : 149,600,000 = x 107

(A) 1496 (B) 149.6

(C) 14.96 (D) 1.496
64. Fill in the blanks : 149,600,000 = x 107

(A) 1496 (B) 149.6

(C) 14.96 (D) 1.496

SPACE FOR ROUGH WORK
EHE
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65.

65.

65.

65.

65.

“x T AT G I9MTHAT CFGTeR {B°F GICS G061 I5/0aa 25T fofer @t @il
1 (=02 7

Toltare RROUhR el e T2 :

(A) 2x2 + 3x (B) 2x2+ 4x

(C) 2x%2+ 7x D) 2x%+ 12x

“x THCIR QIRME GHis q0ofa 1229 traere (12 I9((67 Romasel Ifsifes e el a1 27 |7
(A) 2x2 + 3x (B) 2x2+ 4x

(C) 2x%2+ 7x D) 2x%+ 12x

ey ST T R R ey ot & i GRA Ry e ad | 4
o ST AR BRAT |

(A) 2x% + 3x (B) 2x2+ 4x

(C) 2x%2+ 7x D) 2x%+ 12x

“YTT x % Teh 11 & &bl o S T 1 3T o o IiETd & o= 7 o Sirg fean Smar 2 17
IULIh U HT ST A B

(A) 2x2 + 3x (B) 2x2+ 4x

(C) 2x%2+ 7x D) 2x%+ 12x

“Two times the area of a square of side x is added to three times the

perimeter of the same square.” The algebraic expression of the above
statement is

(A) 2x2 + 3x (B) 2x2+ 4x

(C) 2x%2+ 7x D) 2x%+ 12x
66. x2y S xy? q9.A1.C. 2 ;

(A x B) vy

©) x+y (D) xy

SPACE FOR ROUGH WORK
EHE
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66. x2y @R xy? 9q 978, 2 ;
A «x B) v
©) x+y D) «xy
66. x2y AW xy2 2.3, (HCF) 3171 I ?
A «x B) v
©) x+y (D) «xy
66. x2Zy 3R xy2 o TI.H.UF. & —
A) «x B) v
C) x+y (D) xy
66. The HCF of x%2y and xy? is
A «x B) v
C) x+y D) xy
67. (P MRAT P T99 SRFG! IM & TF 729 T4 S| y 2, (508 TRGI 23 -
(A) 10x+y (B) x+y
C) xxy (D) 10y + x
67. G0 MRYF G U & 3R TGP 2 y AP &g AR 297 -
(A) 10x+y (B) x+y
(C) xxy (D) 10y +x
67. Jfg A" R gaf grafif feamsn x 3 g amafaf feamsn y S, o s
TSI ?
(A) 10x+y (B) x+y
(C) xxy (D) 10y +«x
SPACE FOR ROUGH WORK
EHE
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67. AT THIE & TIT T 37 x B 37N CETE & TWH W y 2, 0 G fhah U T 2 ?
(A) 10x+y B) x+y
) xxy (D) 10y + x
67. If the digit at the unit place 1s x and the digit at the ten’s place is y, then the
number is given by
(A) 10x+y B) x+y
(C) xxy (D) 10y +x
02 (1y2Z (1y? (1)?
68. = e =l : (2) + (3) + ( 4) + (5)
1 1
A) 14 (B) 54
) 14 (D) 54
02 (1Y (1y2 (12
68. ¥ ST (2) + @ + ( 4) + (5)
1 AL
A) 14 B) 54
(C) 14 (D) 54
172 (172 (42 (12
68. (2j + (3j + (4) + (5j am fega
1 1
A) 14 B) 51
) 14 (D) 54
172 (172 (L)% (1)®
68. T @ p (3) ¥ (4) ¥ (5)
R 1
A) 12 B) 51
(€ 14 (D) 54
SPACE FOR ROUGH WORK
[
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68. Evaluate: %)_2 + %j_2 + &)_2 + %)_2

@ 1 ® 55

©) 14 (D) 54
69. x%— 5x+ 63 x— 3 (9 299 I (+II41 29°RFeT (B2

@A 1 B x-2

©) 0 (D) x+2
69. x2—5x+ 673 x— 3 GF 7T O FACE

@A 1 B x-2

© o0 D) x+2
69. x2—5x+ 6@l x — 3N TAHSATE BT THATS3T ST

@A 1 B x-2

© o0 D) x+2
69. x— 3G &2 — 5x + 6 HT fIWTSH T H1 IROMT T 8 —

A 1 B) x—2

© o D) x+2
69. Division of 2 — 5x + 6 by x — 3 results in

A 1 B) x—2

€ o D) x+2
70. 229 20 B FSIRE FRAF @91 (2 :

(A) 210 (B) 120

(C) 124 D) 310

SPACE FOR ROUGH WORK
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70.

70.

70.

70.

2195 206 TR TA2F @Iore] 267

A) 210 (B) 120
C) 124 (D) 310
firfefem 20 faferm 3@l (Natural numbers) 1 greem@sT SR
A) 210 (B) 120
(C) 124 (D) 310
TYH 20 WTehfcieh SIS I AT & —

A) 210 (B) 120
C) 124 (D) 310
The sum of the first 20 natural numbers is

(A) 210 (B) 120
(C) 124 (D) 310

71.

71.

TR GF ST <K Wi 3JF 299 NTod 2 9 | M SALHGIR 77F 2 (@ HE 28T 3 @

EARESIES mi%iﬂ’cﬁ | ST (2R

A) (B)

SOt W
O3 o|w

©) D)

GG SN 714 ©fF 2 CACE 2 P | W 0P 2 AT {79 R B 4R BICP 3 A 7

mesﬁaﬁ%ﬁwg RERIRITEGE

1 3
») 3 ®
5 7
© = O 3
SPACE FOR ROUGH WORK
e
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71. AHE SERERGIH TSR TS 2 @9 | i TASE! 2 S s iean SR THTeEt
3ﬁw@w,mwﬁmﬁwm%|éaﬁ@3@aﬁ3ﬂm

(A) (B)

St e
O3 o|w

(©)
71. U i T 3797 3Gk gL W 2 HH 2 | AfS 37 R 2 T un ok I 37X g Wl 3 F om feRRn
s i frm 2 @ R | o 2

D)

(A) (B)

St e

©) D)

O3 ot|w

71. The numerator of a fraction is 2 less than its denominator. If the numerator
is multiplied by 2 and the denominator is multiplied by 3, then the fraction

2
becomes 9 The fraction is

(A) (B)

St e
O|~3 ot|w

©) D)

72. I ¥ RIers &' o @ TSHE 97C 0 (2= 16 %9 (@K 1 1 K759 51%
T 15 I29 T (@67 @159 951G 737 2 18 27 |

RAIETTS 2<5] o191 P (R TR SIS (R0 :

(A) 5:2 B) 4:3
© 2:1 (D) 3:2
SPACE FOR ROUGH WORK

@
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72.

72.

72.

72.

G R (= 8 TIER 91T T 16 IS | (F96 (XEAWR 91T R 15 IO GR (&
N 1T TP 18 IO | RIpRRIGTS (2051 8 R ST ;

A 5:2 B) 4:3

©) 2:1 D) 3:2

T HUIETRE S e AW s G 99 W aHe e 16 SE | g
TS ®RA S| T/ AEST 15 S| 3R fE=sresn mien B 96 W aEsT 18 IR | 9
EURETTASTS BT TR fereTaraTh R TTg3T see ?

(A) 5:2 B) 4:3

©) 2:1 D) 3:2

T Thel 1 oIgeh 3R SIgiehal gl o1 3Nd 31 16 a9 2 ; Shacd oTgehl shl 3H19d 311 15 a9
2 3TN haet Arefendl i 3Ed 311g 18 Y 2 | Whel H Igehl Ud TISihal <hi TEAT 1 I
3_

(A) 5:2 B) 4:3

© 2:1 (D) 3:2

In a school, the average age of both boys and girls is 16 years; the average
age of only boys is 15 years and average age of only girls is 18 years. The
ratio of the number of boys and girls in the school is :

(A 5:2 B) 4:3
© 2:1 (D) 3:2

1 1 1 1
73. (1—2) (1—3) ......... (1—9) (1—10) EELRIROERICEECE
1
@A 1 ® 19
1 1
© ~710 D) 5
SPACE FOR ROUGH WORK
@
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@ 1 ® 16
© —15 O 3

73, (18] (1-3) e (1-3) (1- ) o m g
@ 1 ® 16
© —15 O 3

73. % (1-3) (1-8) . (1-3) (1-55) Fam2 -
@ 1 ® 16
© -15 O 3

73. The value of the expression (1-3) (1-3] ... (1-3) (175 s
@ 1 ® 16
© —15 O 3

74, T GF FAF 12.5% ZT B AT 119 ol | FRAFG! (2=

(A) 130 (B) 125
(C) 148 (D) 136
SPACE FOR ROUGH WORK

EHE

SLRC-2022/P-11/C 52 i



74, GF0 MRACEF 12.5% IFAICE 119 et a1 | 572716

(A) 130 B) 125
(C) 148 (D) 136
74. WY ARG 12.5% GHTEST 119 S | & SHSGHRTAT ?
(A) 130 B) 125
(C) 148 (D) 136

74. THESATIS 12.5% 9l 8, A 119 B A 8 | F&A 8 —
(4) 130 (B) 125
(C) 148 (D) 136
74. A number when decreased by 12.5% becomes 119. The number 1s
(4) 130 (B) 125
(C) 148 (D) 136

75. (I 9F ITOT CFATE (2 300 .1K.2 % 39 367 e 2z 25 5. [. | JFgen™
‘ﬁﬁﬁfﬁf?:

(A) 88 T.f. B) 70 .M.
(C) 64T.M. D) 587.f.
75. G ORI P 300 T.IN.2 G3R OF I Tiof 25 TN, | SRS Ewaivg AR -
(A) 88TM. (B) 70 PLM.
(C) 64 wf D) 58T,

75. T STRIAH geeERR STER 300 (.74, SR af @' grEi aeurEsn S 25 4.1, |
o A gRife fagmn sger ?

(A) 884.fu. (B) 704.f.
(C) 647 (D) 583.fu.
SPACE FOR ROUGH WORK
@
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75. eh 3T 1 Bkl 300 o &, B 37 38k ferenol i ofas 25 @51, B | 317 o1 uf™ & —
(A) 88T .. (B) 70w,
(C) 6471, (D) 587.H.
75. The area of a rectangle is 300 cm? and the length of its diagonal is 25 cm. The
perimeter of the rectangle is
(A) 83cm (B) 70 cm
(C) 64cm (D) 58 cm
76. (I 93 5299 IA0@ 1 : 50000 (FTS e F41 (2R | AADALTS 95! B 779 12
@[, | ZDR e 2 e (2R
A) 6R=.[. B) 9 R.[.
(C) 12T5.M. D) 15 .M.
76. GG *RCA TFHG 1 : 50000 FI*1 40 e F1 =51 | ADQBCS 716 20 772 12 TLA. |
O EERRIRAGEETHE
A) 6 R=e.M. B) 9.
(C) 12 =.[. D) 15 .M.
76. T8 FEH THEETRIET 1 : 50000 TheI3TE @G | § HEATETRISE TEEAER e
TSR3TE TR THARIST A6 12 T, | & TREEE g i Saemen o9 ?
(A) 6fs.f. (B) 9 ..
(C) 12 f&.fu. (D) 15 f.fu.
76. T TELHI IR 1 : 50000 b IHT T AR FoRq1 ST & | WA= o S T o ofter o6 gff
12851, 2 | GFT €A o sl ohl ATEdoh g @
(A) 6 Th.H. (B) 9 T
(C) 12fw.. (D) 15 fp. 1.
SPACE FOR ROUGH WORK
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76.

The map of a city is drawn on a scale of 1 : 50000. The distance between two
locations is 12 cm on the map. The actual distance between the two locations is

(A) 6km (B) 9km
(C) 12km (D) 15km

71.

71.

71.

TRICT 95! FR2FQ @91 12 S ARG 91T 219 20z 60 | FRATVGE [rerd 2[4
2w

(A) 4 B) 3
©) 6 D) 5
v2(B MR @9 12 @R I 0o #1196 60 | 722051 721541 “11<4<wy 2 -
A 4 (B) 3
©) 6 D) 5

A sER ST e 12 AR 99 i GRORET JEE 60 | 9 i
BIEEIE R IR R

A 4 B) 3
€) 6 D) 5
77. AT 1AM 12 3R 3T T BT 3T 60 7 | GHI A3 o o o1 FR & —
A\ 4 B) 3
C) 6 D) 5
77. The sum of two numbers is 12 and the difference of their squares is 60. The
difference between the two numbers is :
A\ 4 B) 3
©€) 6 D) 5
SPACE FOR ROUGH WORK
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78. 2009 200% I 2]

(A) 40,000 (B) 400

(C) 4,000 (D) 440
78. 200 99 200% 2 :

(A) 40,000 (B) 400

(C) 4,000 (D) 440
78. 200 T4 200% 311 SITTA

(A) 40,000 (B) 400

(C) 4,000 (D) 440
78. 2001 200% & —

(A) 40,000 (B) 400

(C) 4,000 (D) 440
78. 200% of 200 is

(A) 40,000 (B) 400

(C) 4,000 (D) 440
79. 14, 21 I 28 7.8, IIF .3, T A (22 IAEFH

(A) (84, 14) B) (56, 7)

(C) (84,7 D) (56, 14)
79. 14, 21 €38 28 9T NG, G2 5178, T

(A) (84, 14) B) (56, 7)

(C) (84,7 (D) (56, 14)
79. 14,21 A 28 [ g.37.491. (HCF) 3 g.370.41. (LCM) 31 %1

(A) (84, 14) B) (56, 7)

(C) (84,7 D) (56, 14)

SPACE FOR ROUGH WORK
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79. 14, 21 3R 28 % TA. . TH. 3 .0, HIA: & :
(A) (84, 14) B) (56, 7)
(C) (84, 7) D) (56, 14)
79. The LCM and HCF of 14, 21 and 28 are respectively
(A) (84, 14) (B) (56, 7)
(C) (84,7 D) (56, 14)
80. 1,2,4,8,16, ......... , 256, 512 XRYFANGIS Al WS R4 2R :
(A) 10 B) 9
© 7 D) 8
80. 1,2,4,8,16, ......... , 256, 512 FHCS AR A4 :
(A) 10 B) 9
© 7 D) 8
80. TR HIRITE A g™ g : 1, 2, 4, 8, 16, ..oou....... 256, 512
(4) 10 B) 9
© 7 D) 8
80. M @M HATG R TR 1, 2,4, 8, 16, ......... , 256, 512
(4) 10 B) 9
© 7 D) 8
80. The number of terms in the series 1, 2, 4, 8, 16, ......... , 256, 512 1s
(A) 10 B) 9
©) 7 D) 8
SPACE FOR ROUGH WORK
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81.

81.

81.

81.

81.

G+ e &fs Nite 35 B %77 52l TR 21T | 987 Bl *% 512 FREE (©8F I
MRS ARG 29 2

A) 27 6 12 s (B) 28 N5 8 e
(C) 27 [5G 7 s (D) 28 ™fH 12 s

4 e afe Ws 35 B %% JuIa FICo I | ©fF 987 b =% q@iFa F900 F© 7
EIRICH

A) 27 WG 12 e (B) 28 N5 8 CIimes
(C) 27 6 7 s (D) 28 ™5 12 s

& gegan | fuftera 35 Aige Tsw (Type) ST &1 | 987 W@ 89 AT forl & e
TH AT 7

A) 27 fufe 12 9= (B) 28 fufte 8 tse
(C) 27Tl 7 &%= (D) 28 fufe 12 Th
T Ak 35 &g Fid e hl & | 189 il & | 36 987 Teg 159 Hid H fohaHT T8I AT 2
(A) 27 fime 12 O%e (B) 28 fire 8 T=hs
(C) 27 fiFme 7 s (D) 28 fiFe 12 T

A person types at the rate of 35 words per minute. How long will it take him

to type 987 words ?

SLRC-2022/P-1I/C 58

(A) 27 minutes 12 second (B) 28 minutes 8 second
(C) 27 minutes 7 second (D) 28 minutes 12 second
SPACE FOR ROUGH WORK
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82. 7 lamﬁﬁaa@l
1+§ 2+§
1 1
@ 15 B) 3
© 1 (D) 0
4 7
82. T 1 G T el 359
1+§ 2+§
1 1
A) 715 B) 3
© 1 (D) 0
4 7
82. 1 —2+lﬁﬂﬂﬁ§?l
1+ 3
1 1
A) 715 B) 3
© 1 (D) 0
4 7
82. T~ 7 &1 T F1d ST |
1+§ 2+§
1 1
A) 715 B 3
© 1 (D) 0
. 4 7
82. Find the value of 17 1
1+§ 2+§
1 1
A) 715 B 3
© 1 D) 0
SPACE FOR ROUGH WORK
EHE
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83. {-7,-6,-5, ....., 5, 6, T} *RYFIGIS (20| ASIH 7R AR 2
A) 15 (B) 14
© 7 D) 8
83. {~7,-6, -5, ....., 5, 6, T} FALCS FSI{F TR LG Sl 2 -
(A) 15 (B) 14
© 7 (D) 8
83. {(~7,—6,-5, ....... 5, 6, 7} & BIRaTE T TFed fferm smfm g v
(A) 15 (B) 14
© 7 D) 8
83. {-7,-6, -5, ....., 5, 6, T} *[GAT H IUAH i TEATHI hl ol TG & —
(A) 15 (B) 14
© 7 D) 8
83. The total count of natural numbers available in the series {7, -6, -5, ....., 5, 6, 7}
1S
(A) 15 (B) 14
© 7 D) 8
84. M 5-RTYE WAGITS(F 7F MANBGIF *[ 3-NFIS HGIZ(F Thed TR [l T
7, (SR T\ 2T :
(A) 9001 (B) 9000
(C) 9990 (D) 9999
84. Toafb SR AR 9Mf0® 372 M A w1 =il If5® IR 7451 (I [isl Fce
e DY :
(A) 9001 (B) 9000
(C) 9990 (D) 9999
84. 3 femMTAT (digit) et MR 5 fommmHT 3=fEm MfHRE g a Tiset fhemn
SIicH
(A) 9001 (B) 9000
(C) 9990 D) 9999
SPACE FOR ROUGH WORK
=%E
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84. 3 5 3Tehi h! T DI TR H U 3 3Tehi oh! HaH S! HGAT 51 &1 AT, Al TROMH T & —
(A) 9001 (B) 9000
(C) 9990 (D) 9999
84. If the largest 3-digit number is subtracted from the smallest 5-digit number,
the result 1s
(A) 9001 (B) 9000
(C) 9990 (D) 9999
85. 18 —[6— {4 — (8 + 3)}] I Wi fovefa a7 |
A -2 B -5
©) 5 D) 2
85. 18— [6— {4 — (8 + 3)}] @ ¥ e v :
A -2 B -5
©) 5 (D) 2
85. 18 —[6—{4— (8 +3)}] M om fag ?
@A) -2 B) -5
©) 5 D) 2
85. 18— [6— {4 — (8 + 3)}] T HM HTd HIfT |
@A) -2 B) -5
©) 5 D) 2
85. Find the value of 18 — [6 — {4 — (8 + 3)}]
A -2 B) -5
©) 5 D) 2
SPACE FOR ROUGH WORK
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Q. Nos. 86 — 87 : Choose the correct pair of words which are OPPOSITE of

each other.

86. (A) Rough — Coarse (B) Artificial — Synthetic
(C) Take — Accept (D) Sad - Happy

87. (A) Easy-— Tender (B) Within — Outside
(C) Right — Correct (D) Closed — Shut

88. Choose the correct pair of words which are SYNONYMS of each other.
(A) Evil — Blessed
(B) Cheat — Deceive
(C) Above — Below

(D) War — Peace

89. A group of Dogs is called
(A) Pack (B) Swarm

(C) Herd (D) Flock

90. A group of Monkeys is called

(A) Troop (B) Cluster
(C) Rabble (D) Herd
[
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Q. Nos. 91 - 92 : Fill in the blanks with correct articles :

91. Edmund Hillary and Tenzing Norgay were first to conquer Mt. Everest.
(A) the (B) an
(C) a D) it

92. Mr. Bennet left his property to

(A a

(C) the

(B)

D)

unknown heir.

an

some

Q. Nos. 93 — 95 : Fill in the blanks with correct prepositions :

93. Have pity the poor.
(A) with (B) of
(C) at (D) for
94. Take precaution cold.
(A) against (B) for
(C) with (D) within
95. The picnic table 1s placed the tree.
(A) under (B) underneath
(C) beneath (D) below
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96.

Q. Nos. 96 — 98 : Choose the correctly spelled word :

(A)

©)

Veterinary

Veternary

(B)

D)

Veterinery

Veterenery

97.

(A)

©)

Elemantary

Ellemantary

(B)

D)

Elementary

Elemantery

98.

(A)

©)

Dissimilar

Dissimmiler

(B)

D)

Disimilar

Dissimiler

99.

Q. Nos. 99 - 100 : Choose the correct pair which is similarly related.

(A)
(B)
©)
D)

Good, Best
Tall, More tall
Fat, Rough

Worser, Bad

100.

(A)
(B)
©)
D)

Funny, Funnest
Order, Disorderly

Keen, Kind

Calm, Calmer
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101.

101.

101.

101.

7% MADRAS *R5IF @I «F SRre NBESBT 257 141 27, (S8 96! ©E®
BOMBAY *CGIF &FCM &1 AR 2

(A) CPNCBZ (B) CPNCBX

(C) CPOCBZ (D) CQOCBZ

I @5 FFE SR @S MADRAS & NBESBT @ @14 =, S & ©FF
FEFCS BOMBAY FSI@ @141 217 2

(A) CPNCBZ (B) CPNCBX
(C) CPOCBZ (D) CQOCBZ

Jfe @@ 9w MADRAS @ NBESBT sawi (Code) foi@t, BOMBAY @t &
TSTATE HT SHNTSH fAATTH 2

(A) CPNCBZ (B) CPNCBX

(C) CPOCBZ (D) CQOCBZ

gfe wes ffsra o 4, MADRAS s NBESBT & &9 # shifga feran Siram @, 1 3@ st 8
BOMBAY @1 8 shifed feba smam 7

(A) CPNCBZ (B) CPNCBX
(C) CPOCBZ (D) CQOCBZ
101. If in a certain language, MADRAS is coded as NBESBT, how is BOMBAY
coded in that language ?
(A) CPNCBZ (B) CPNCBX
(C) CPOCBZ (D) CQOCBZ
102. ¢ SI9aZS *m ACEGI T T 5e1l ¢ e =G eTCh! efealieh ifer a1l 712 ?
(A) RTVXZ (B) BEGIK
(C) MOQSU (D) DFHJL
102. G @i 3 AFfs 22 % ACEGI 71 =12 F1 s Sepiael Ffel 2
(A) RTVXZ (B) BEGIK
(C) MOQSU (D) DFHJL
102. 3% M " ACEGI S GRiSHT 5@l 5/« WIS 3T S8/ ?
(A) RTVXZ (B) BEGIK
(C) MOQSU (D) DFHJL
[EXE
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102. 38T 1 S |1 99 e wsg ACEGI gr1 feifa fem o1 u1er 78 shear 2 7
(A) RTVXZ (B) BEGIK
(C) MOQSU (D) DFHJL
102. Which set of letters does not follow a rule set by the meaningless word
ACEGI ?
(A) RTVXZ (B) BEGIK
(C) MOQSU (D) DFHJL
103. =TI ST e e (e SIieqi A | O e e g o A e

103.

103.

103.

103.

ISRIG | 92 RS ©f2 Prezeite I« o’ S 779 @ (IS Sie@i2 A | S Gfsql &l
Tee] 32 < = 2

GV (B) Teq

(C) =ifow (D) e

a1 e R e “isem) =11 205, SRR G IMCE (IS 0 Sas “i%em) #1f 215, Q9T
G (T IR SRS G AT RIS, ST 93 @M 3 R SR 2

@) F (B) Tex

(C) =ifow (D) wFwe

AR AF STERA™ 50 TR &R | SR foen sy fifém smiema 50 3w
TN | Sgr feri MfEfe= 3T 100 31T AremsE | <fim o o« fonf gt s g ¢

(A) FreT (B) @&

(C) TN (D) @

ST 3T IS T T T e Ferdt & | R 9 SrRff 3R et 7, R w=me shew werdt 2 |
TET 9% FE & 3R ey Ferdt 2 | o1 1 gE ore fha femd @ ¢

A (B) I

(C) fvem (D) g

Leena walks fifty steps towards the rising sun. Then she turns left and walks

another fifty steps. Here she turns around and walks a hundred steps. Which
direction is Leena facing now ?

(A) East (B) North

(C) West (D) South
E¥m
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104. Q3 I5(PRoq FAEIF 277 97 e ©F I (111 Sifiies SpRoth! (20 «bl
&) g fags (B) e fage
(C) T frgs (D) TEEIA fags
104. 315 501 TR @RI S ©ie 01 Seoiifire sififes wiphefb =3
&) 7 fags (B) e fage
©) Wi fage (D) e fage
104, T ST HEH THTCE! fof TR STt 2HTeeT RIS Tt 07 ST ?
(A) TIET AETIAH (B) THM ARG G
(C) Ty ImETfrum (D) @HTET ARG
104. T TR EHIC i IHeh TR0l oh STC AISA T TROITHT ST SR Biet & —
(&) sl B (B) wmag st
(C) wmehv Byt (D) =1 Fryst
104. The resulting geometrical shape on folding a square Handkerchief along its
diagonal, is the
(A) Obtuse Triangle (B) Equilateral Triangle
(C) Right Triangle (D) Acute Triangle
105. “S¥ SNEETS & (& 7
“(ooe] SHTF (D |7
BRI GO (S |7
M &2 751 Tfe 7o) 27, (O08 Torl Sfeth 77 :
(A) T (B) PTE
(C) ==y g 7= D) 2
105. “S¥e IR (ACF T
“ToSA T (ACF IT”
BRI (O (AT T~
3w &2 it Ks ey =7, 1 wer fghefb -
A) T (B) et
(C) wroRfle oy D)
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105. “GUH 311 S g3 U

&) &@ (B) @™

(C) oo @i (D) =g iy fagfor
105. “ao SEUA A &SI R |

‘Y TH AT E |

“ghque A A T2 |7

I T8t &1 HYF I 7, A AHT HAA R -

(A) & (B) 38

(C) 3TFTH B (D) 3THeIRd e
105. “Tapan is elder than Emmanuel.”

“Chetan is elder than Tapan.”

“Emmanuel is elder than Chetan.”

If the first two statements are true, then the third statement is

(A) True (B) False
(C) Insufficient information (D) Unrelated

106. I% L. MOAT 3 0Ce 77™1fF®, R SOAP 3 PIte 7IiFe 27, (o8 el F swiiee

CIT #1975l T=R
(A) GOAT (B) GREEN
(C) GOWN (D) GROAN
106. I L MOAT &3 (% 59{{F®, R 7= SOAP 97 5%, ©(F UF2SI[@ F 57ofFs
(A) GOAT (B) GREEN
(C) GOWN (D) GROAN
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106. Jfe L 31 MOAT it &leami=i, R 31 SOAP i SeamIHl, 376t F 31 TEHEd Feisii
ASE 7

(A) GOAT (B) GREEN
(C©) GOWN (D) GROAN
106. Ife L, MOAT @ Haftrd 8, R, SOAP @ Heftra @, a1 F 36t TehR @ Heifera @
(A) GOAT (B) GREEN
(C©) GOWN (D) GROAN
106. If L is related to MOAT, R is related to SOAP, then F is similarly related to
(A) GOAT (B) GREEN
(C) GOWN (D) GROAN

107. CUP: LIP:: BIRD : ?

SRS TP 07l 191 <2 o[« RpeIChl (et :
(A) GRASS (B) FOREST
(C) BEAK (D) BUSH

107. &9 RFEH G2 T=oItER A TACAE SICeT T
CUP:LIP::BIRD:?

(A) GRASS (B) FOREST

(C) BEAK (D) BUSH
107. 519 98 HRRGEIST 9%E areteq amera fefm ?

ERL IR (T 1

(A) (B) =z

(C) < Yy (D) SER
107. 4 91 foeheq Haferd o fore dod 3ug® & —

%Y : B vaft : ?

A) =™ (B) &=

(©) == (D) @it
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107.

Which one of the options best fits the relationship
CUP : LIP :: BIRD : ?

(A) GRASS (B) FOREST
(C) BEAK (D) BUSH

108.

108.

108.

108.

JAR TFHRCG! [BIE 1feT 512 2/ TR T8 RKpeieh! foere 1 -
GRS IS WA @

INIRPRICEEY ®) B2

(€) =6 (D) a5
Tl 5)¢f S & TS e = RpafD o 59 :
R« ST o (FETS® OO™T

(A) P B) ©.5.2

(©) PR D) 5w
TG AT Sefigs arefi g st et UTeliHmEEt 37y e ?
I : CST TN A ;W &I :

(A) Tehd B) fafasz

(©) fefera (D) wigHH

a9y @IS 3T Tad 3728 foehed i Tg= i 37 ik worm 1 Wil —
FEICERRC C TR ke RU

A) oo (B) ddg

(C) Tewhe (D) wiewH
108. Find the relationship and identify the best option to fill up the gap :

Airport : Runway :: Railway Station :

(A) Signals (B) TTE

(C) Tickets (D) Platform

EHE
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109. A6N3M4N7TH3N4N2K7A2D5F6
*RYEANCGIS AT B o0 S (9T (202 :

A) 22 (B) 24

(C) 26 (D) 20
109. <58 FFAGCS

A6N3M4N7TH3N4N2K7A2D5F6

SRGTE I A Q19Fe] 1< <

A) 22 (B) 24

(C) 26 D) 20

109. A6NSM4N7H3N4N2K7A2D 5 F 6 %@ a9aE 7@ ST fogmt

SroTeTTEE! fogd ¢

A) 22 B) 24

(C) 26 D) 20
109. @

A6N3MANT7HSN4N2K7A2D5F6
T gt 99 Spi R AT FRT S ?

4) 22 (B) 24

(C) 26 (D) 20
109. In the series

A6N3M4N7H3N4N2K7A2D5F6

the sum of all the even digits is

A 22 (B) 24
©) 26 (D) 20
[E%E
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110. 80, 10, 70, 15, 60, ........ XRYFGIS QI (AR /S 95! 7RI 2
(A) 20,50 (B) 25,45
(C) 30,90 (D) 50, 20

110. <IT5 (783 FHMHCS AFTS! 747 915 2 -

80, 10, 70, 15, 60, ........

(A) 20, 50 (B) 25, 45

(C) 30,90 (D) 50, 20
110. 80, 10, 70, 15, 60, ........ HIRAE &S SR 3 A STHSHRT A AT ?

(A) 20, 50 (B) 25, 45

(C) 30,90 (D) 50, 20
110. < 7T sf@e H 3T & T E —

80, 10, 70, 15, 60, ........

(A) 20, 50 (B) 25, 45

(C) 30,90 (D) 50, 20
110. The next two numbers in the given series

80, 10, 70, 15, 60, ........

are

(A) 20, 50 (B) 25, 45

(C) 30,90 (D) 50, 20

111. “@TI¥, T, 419"
37 (P3G IR fsiag T4 bac! bies F41 |

A) O @ (B)
©) : D)
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111. GI, <ell, 419
YA O effefias Fa1 foaibee bfee 99 |

A) O @ (B)
© : (D) @

111. T, 91 3R 17! BRARIT 9313 HEH emi@! hK |

»w O @ ®)
© D)

111. 998 3m=a1 YfafAferes s a1er 3@ =1 fafea ot —
e, fheer, e

@& O @ B)
©) D)

111. Mark the diagram best representing

Gold, Silver, Metal

(A) O @ (B)
© D)

Bl B Bl

SLRC-2022/P-1I/C 73
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112. & bepTes foeqe SiwEiTe 2 Hac! foare 4 |

(A) % (B) Tr\
©) /'VI\ (D)

112. A (A Sevt 1 fog e vfee 999 |

(A) ? (B)
(©) /'VI\ (D)

112. TETRRHHR ST Aami@! o |

(A) ? (B)
(©) KVI\ (D)

112. GHU & 3T SATH(d hl T=H B —

@) % ®)
©) rva D)

112. Identify the figure different from others.

(A) ? B)
©) KYI\ (D)

A4 3 A3 Joa L3

040
E:
criE
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113. wore il foaprzs &2 vo! =19 fbeprrz ¥ Aifes srfEfes &fre e | ¢R ife
wepife 2 fozeht et faq o ot tae :

payladgh

OIS

Vil

A) O B 7\

©) o O

113. FGR BaBwEITs, 22 6! AR GH FREEE WMo I | G127 SRR epaies b
(?) “RR_CE 2@ :

Jay)at
O

e
A) O B 7

)

© o O
113. FrermiETe firfe g e 78 39 B | § 98 9 [ e S e
bal)al@h
O
el

A) O B 7\

©) o O

E
errilEl

P.T.O.

OH0|
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113. fi= feu mu f= #, vgelt o dfwat e fam w1 guidt € | fem % sgEwr, <7 % fom
e & —

X |ZX
O

Ol
(A) O B) 7\

© o O

113. In the figure below, the first two rows indicate a rule. According to the rule,

)

the replacement for “?” is

Al
ol
Ol

A) O B 7N

©) o O

114. =07 ; T20QIS = (RIS : ?

(A) @[ (B) “gzT
©) @1z (D) TME
114. s#67 : SO :: (KIS : ?
(A) TR (B) G
(C) =ioT (D) T
1= AL
SLRC-2022/P-11/C 76 R



114. S9qY : f9E9 - 9’918 -

(A) TR (B) ugrse

© " (D) Ty,
114. <92 ; f9e :: Tesa : ?

A) =RR (B) Tgise

(C) ™= (D) ™
114. Laptop : Windows :: Mobile : ?

(A) Play Store (B) Android

(C) Apps (D) Games

115. f50© 451 eXEis< BTm! (?) &fSRo FREE AT = A fore 541

?41586177‘N
6 5 9

A) 57 (B) 51
(C) 58 (D) 63
115. 9 oafore en@Eiss Bred Siacs @ 712016 13 ©f fbfee F9 |

A ASAN
6 5 9

(A) 57 (B) 51
(C) 58 (D) 63
115. ™ BRI e SEiE MR ST JHEE iR ?

?41586177‘N
6 5 9

(A) 57 (B) 51

(C) 58 (D) 63
@
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115.

115.

3T | e g ol 9ge o foTg 7 hl 98=H i |

?41586177‘N
6 5 9

A) 57 (B) 51
(C) 58 (D) 63

Identify the value to replace the question mark (?) in the figures :

?41586177‘N
6 5 9

A) 57 (B) 51
(C) 58 D) 63

116.

116.

116.

SLRC-2022/P-1I/C 78

271G 3o HaPTRA I AT (FFa© GBI SITCER Ao -RST oo T ?

i
o gp o P

T 5q @il G S1oEg wofe aifefs «x 2

CAR D WP
- gp o P

e S8 ST MaER G Ar—== e 987 ?

CGP e
o gp o P

040
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116. 3TTh{d T H & HH T Th 8L 1 qUU1 Tfafea 7 8 ?

S wp
o gp o P

116. Which one of the figure pairs is NOT the mirror image of each other ?

L
o gp o P

117. 2ne fHaibie (20! fags eI St ?

(A) 13 B) 5
C) 7 D) 10
117. foafbce @it T fage it ?

A) 13 B) 5
© 7 (D) 10
117. M AeY ARG € ?

A 13 B) 5
< 7 (D) 10
[E%E
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117.

117.

3Tehfa # fepaa g & 2

A) 13 B) 5
© 7 D) 10
How many triangles are there in the figure ?

4) 13 B) 5
<6 7 D) 10
118. @51 g 15! 705 Tl ez |

118.

118.

SLRC-2022/P-1I/C

21 fofeibl g 2l P1THR 5 feide e 26! iy wiicz 2

Q) = (B) =2

(C) 5 (D)

G2 R(FF Y0 (BRIA! (1S 20

foafb [ 21l S=foe Qs otat b K =R 2

A = (B) 12

(©) b D) <

TH STZETHT A 73T STTE=

T Tl THT FRaT ST U™ ARgiste gHed fo<i € ?
A) < B 3

(C) = D) &

040
E:
criE

80



118. T & 9% % &1 &9 QU T &

i feigatt oot g o foodia g@ W fepaa fog § 2

@) B) @

(C) "= (D) T
118. The two appearances of the same Die are given

How many dots are there on the face opposite to the face with three dots ?
(A) Six (B) Two
(C) Five (D) One

119. & HepTRs I TR A AL SIS TS| 2, (S0P DR S 23 :

OROJsh =)

(A) 1423 (B) 2134
(C) 4123 (D) 2143
119. I™

OROJsRI=)y

DABEIE T AT TR A =W O&F T (A

(A) 1423 (B) 2134
(C) 4123 (D) 2143
Em
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119. Sf¢

OROJsRl=)

Hrermiw @ fora et sFfm Sige ™ s1fed T SR, 3161 %I Sesi

BIRATIA] BT ?

(A) 1423 (B) 2134

(C) 4123 (D) 2143
119. e HAihs

OROuthl=)

I ITh! el g5 Y3l § SHafera feram STraT B, at shH BT —

(A) 1423 (B) 2134
(C) 4123 (D) 2143

119. If the figures

GoRI

are arranged in their increasing number of sides, then the sequence would be

(A) 1423 (B) 2134

(C) 4123 (D) 2143
EME
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120. oae (rysal i 7S G2 o= 415 2© @yl e @@ AT I $iw 391 =7,

(ST (@ =< (R0 I 1 2

(A)

©)

120. I FR GFYY PGP 0 GIT T

(A)

©)

(B)

D)

99 TS @ (@41 S ©ie 91 21 O (i &S0 SPTeT 2

(B)

D)

120. ST&cT e SR Rg=Tg T T TSR THT TSeTTs@! SITET grars o fon /1

TITE 7Et TomTH ?

(A)

©)

SLRC-2022/P-1I/C
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120. fe@m 7 e 3 a1 s uresft e i fodier T o 9y aied | sH € ofy foars ¢l ?

@ ®)

© (D)

120. Which image would appear when a transparent sheet with the pattern as

shown

is folded along the dotted line ?

@ ®)

© (D)

121. TS S@TS (FIGI A7 Sife ?
(3,7, 15, 33, 63)
(A) 33 B) 15
C) 7 (D) 63
121. 0" @01 i T @b s 2

(3,7, 15, 33, 63)

A) 33 (B) 15
© 7 D) 63
[E%E
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121.

121.

121.

(3, 7, 15, 33, 63) ATIE YN F IR 76 7T ?

A) 33 B) 15
C) 7 (D) 63
frferfiga @ & %5 = T 3 (3, 7, 15, 33, 63) A & 8 ?
(A) 33 B) 15
C) 7 (D) 63

Which of the following numbers is not correct in the sequence (3, 7, 15, 33,
63) ?

A 33 (B) 15

<© 7 (D) 63

122.

122.

122.

122.

SLRC-2022/P-1I/C 85

TNITETST BRI S &, &1, (iR, IR ST ST *ACPLIT IR C7i1,
R, S, S F ol NHCHRHIE O B | 9IS SIS (il e AW ofo
PR A, (T8 (98 (Teoizs & RpifR 2

A) TI=F (B) =<

©) Iy (D) &
TSI BRSO SIS SRS, &@1, S, ISP @R P SRS AAFw
T, IS, RS, TR G3R T 9 2 | IM FR ol AR Fe G0 gRers
2 S@ (T BI3E ?

(A) S (B)

(C) oM (D) &

Tvg i SrEmsTR 9IS 7, S5, <, TR, IR 3TN 3T AIgEERE! B g SR
ORI, SR, §gH, @1 AW ¢ | Jfg a8 THHST Teive 37e gaaedl 3R S8 ¢
TTETeATE JHT, S5 S8 UG | ?

(A) = (B) 3@

(C) =R D) ¢

et 31 ST HIWT 3 STTAR YT, ST, FehT™l, ATy 3T TThINT o Ieg SHT: Tehr™l, 91,
e, ST TR A & | T IS TATeIS AT IR T&T AT 81 S, q 98 R AN ?

(A) T (B) 3ThI

(C) =y D)

E
errilEl

P.T.O.
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122.

As per the local language of Gogaland, the words for earth, water, light, air
and sky are the light, air, earth, sky and water respectively. If one visits
Gogaland and gets thirsty there, what would he ask for ?

(A) Light (B) Sky
(C) Air (D) Water

123. TS ZAPTRI (HIUH! I e ?

(A) BEIZ: AR B) TII: T
(C) = : IBe D) 2N : o=

123. Ity SEfie (ool @i SeEmseid SorEfors 2

A) 12T (B) 39 : T
(C) Tl : SB[ (D) x4 : B2

123. &€ ST MR S S1e) ?

(A) TE ;T FEn (B) dmr: §mwrta

(C) ™8 : Wz A (D) 3| : &

123. FAfIREd § § S &1 W Tord gafad @ ?

123.

A) Tafean . amen (B) %l : el (FTITER)
(C) el : gguret (D) 3 : Hig

Which of the following pairs is incorrectly matched ?

(A) Birds : Nest (B) Dogs : Kennel
(C) Horse : Stable (D) Pigs: Den

124, TR *R2@ICG! S9RGI2 17081 178! BT 1% 123 a1ifar 2

ACRA, BDSB, CETC, DFUD, ?

(A) EGVE (B) EVGE
(C) EFGE (D) EGFE

EHE

SLRC-2022/P-11/C 86 ]



124. FRNHE TS FATS *RTOITS FI SAPE ?

ACRA, BDSB, CETC, DFUD, ?

(A) EGVE (B) EVGE

(C) EFGE (D) EGFE
124, TEEN BIE GREETE AT STARSATE H &l TR 7

ACRA, BDSB, CETC, DFUD, ?

(A) EGVE (B) EVGE

(C) EFGE (D) EGFE
124, e SR W@ 3 foTe 3171 R 371 =1feT ¢

ACRA, BDSB, CETC, DFUD, ?

(A) EGVE (B) EVGE

(C) EFGE (D) EGFE
124. What should come next to continue the series :

ACRA, BDSB, CETC, DFUD, ?

(A) EGVE (B) EVGE

(C) EFGE (D) EGFE

125. T3 IR 5R¥12 o7 92219 § 2o efegim @ 7if 2
(2, 3), (4, 5), (6, 7), $, (10, 13)
A (8, 11) B 8,9
© (1,8 D) (7,11)
125. T 1R (RIS $ G AKCE P 2
(2, 3), 4, 5), (6, 7), $, (10, 13)
A) (8,11) B 8,9
© (1,8 D) (7,11)
125. 99 AT IR $ ot dermme 2

2, 3), 4,5),(6,17),83, (10, 13)

A4) 6,11 B) 8,9
©) (7,8 D) (7,11
[EHiE
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125. GEI13T1 <) i i L 1 $ & LI I gfaeenfud s =nfgu ?

(2, 3), (4,5),(6,7), $, (10, 13)

A) (8, 11) B) (8,9

©) (7,8 D) (7, 11)
125. Which pair of numbers should replace $ in

2, 3), (4,5),(6,7),$,(10,13)?

A) (8,11) B) (8,9

©) (7,8 D) (7,11)

126. f&FCF6 4517 CTCS Sos *J1b Dol 41 |

(&) CCfreHt (B) JIIETR
(C) PrE= (D) g
126. fFFD (4ER 70 i “ifeift fofrs 71
A)  oferelfd B) IICHE
(C) Prp-wv (D) faept
126. Tshehe TSl SieaT T EieleRat i |
INIRESIEL] (B) S+
(C) fuss 3y (D) fead
126. Tohehe o @t o A1 T g 6l T8 L |
(A) feefierd (B) +RX
(C) fueh 3 (D) fead
126. Identify the term associated with the game of Cricket.
(A) Delivery (B) Counter
(C) Pick up (D) Reverse
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127. “TES] : 2[S” ¥ YO (S o< =<1 151 2
(A) Pants: Legs (B) Cap: Head
(C) Gloves : Hand (D) Belt : Neck
127. “gol : 219" TPMH T© GBS 7{Fe *w (qiell Hies 3 |
A) G : Al B) B
(C) o@rEl: o (D) TP (D) : 9feTl
127, 1 : SATEE” 93fe AHI THT SRt §1f |
(A) TSI : 3T (B) 9fk: &
(C) el g : 37T (D) e : Te
127. HafYd S16G] shl SIS hl T=H 36T a8 & i 58 “S[d : Y~
A) Te:: (B) i : ’r
(C) T : 8™ (D) S : e
127. Identify the pair of words related in the same way as “Shoes : Hands”.
(A) Pants: Legs (B) Cap : Head
(C) Gloves : Hand (D) Belt : Neck
128. @@ M1 SR (PIFCH! AL SN 51 TR Moy @ 72y ?
(A) 256 (B) 884
(C) 128 D) 512
128. 10 (1eq MRAGIBTEAR AR (TG 998 @A SHTG 3 2
(A) 256 (B) 884
(C) 128 (D) 512
128, TER 6 T SANERI & TE g1 HI98 STEr A7 ?
(A) 256 (B) 884
(C) 128 D) 512
128. < T8 @3 § & i i Ueh & uug i fgen Adi 7 ¢
(A) 256 (B) 884
(C) 128 (D) 512
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128. Which one of the given numbers is not a part of the same group ?
(A) 256 (B) 884
(C) 128 (D) 512

129. AW 279 elfeqiF D @, 79 el s M @, @6 ef@is A @ 9 [l efews S @
ORI 'Y, (o8 s e Ofe 7oy 7' ?
(A) 32A8M16D4=-3/2 (B) 6M18D26S13A7=173/13
(C) 11M34S17D8S3=38/3 D) 9A9S9D9IM9=9

129. AW D ©5 =, M %79 =, A @1l = 4R S Rl =¥ @ fyey Safve @b fgfs
g ?
(A) 32A8M16D4=-3/2 B) 6M18D26S13A7=173/13
(C) 11M34S17D8S3=238/3 D) 9A9S9DIM9=9

129. Sf¢ D 31 T, M 3T GHSEAR, A 31 §RIeAE AW S 31 gHE ™ BRAR, el
TRt 5 fogfysm e ¢
(A) 32A8M16D4=-3/2 (B) 6M18D26S13A7=173/13
(C) 11M34S17D8S3=38/3 D) 9A9S9D9IM9=9

129. afe D9 R, MM R, A e 8 3R Suar®, dl fmfafaa d v e wem ar @ 7
(A 32A8M16D4=-3/2 (B) 6M18D26S13A7=173/13
(C) 11M34S17D8S3=38/3 D) 9A9S9D9IM9=9

129. If D is division, M is multiplication, A is addition and S is subtraction, then
which of the following statements is true ?
(A) 32A8M16D4=-3/2 (B) 6M18D26S13A7=173/13
(C) 11M34S17D8S3=38/3 D) 9A9S9D9IM9=9
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130. FrafeT=ie zg (sl SHEe G =<1 727 ?
(A) Apology (B) Archaeology
(C) Psychology (D) Geology
130. 10 TR (G SIS =10 73 2
(A) Apology (B) Archaeology
(C) Psychology (D) Geology
130. TER & TR HUIHAR T Q] ST ?
(A) Apology (B) Archaeology
(C) Psychology (D) Geology
130. Ffaftd 4 @ S AeRA F T TE @ ¢
(A) Apology (B) Archaeology
(C) Psychology (D) Geology
130. Which of the following is NOT a branch of study ?
(A) Apology (B) Archaeology
(C) Psychology (D) Geology
131. &g RS feoqe 52 *<h! [{AbIf Sferea
(A) APQRC (B) XPQRZ
(C) LPQRN (D) SPQRT
131. I SRS = e3feT S0 ST (/I 7= *16 0% @ I |
(A) APQRC (B) XPQRZ
(C) LPQRN (D) SPQRT
131. TERTE BT FEGRA HTeTd T R dige@t AhR 2
(A) APQRC (B) XPQRZ
(C) LPQRN (D) SPQRT
131. fr=faifea sreqi & T 1 o101 @ form @i |
(A) APQRC (B) XPQRZ
(C) LPQRN (D) SPQRT
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131.

Of the following words, find the one different from others.
(A) APQRC (B) XPQRZ
(C) LPQRN (D) SPQRT

132.

132.

132.

132.

132.

6574398 MR SREIE 2T T AT 91 HGIRSCF 7 TRAIGH 75 Cirers
CFIICH! @ 1R ?

A) 6 B) 5

© 7 (D) 4

6574398 €3 IHRGE IR W@ @ Fuow MY A0e 2@, o2 iy F T
oD B = ?

4) 6 ®B) 5
© 7 D) 4
6574398 FANTHIM T @l @RI EMM S15iEs g3 SHISHTM TS o ™

foramat w1 ST 7

A) 6 B) 5
<€ 7 D) 4
6574398 % Tl 3Thi T IUANT Hlch THTE AT Hehl ATl GH DI T&AT H, Jieh &= H i

1 37k g 7

(A) 6 B) 5
<€ 7 D) 4
In the smallest number that can be formed by using all the digits of 6574398,

what would be the digit exactly in the middle ?

A 6 B) 5

C) 7 D) 4
%
SLRC-2022/P-1I/C 92 o



133. 23 IR TS 3¢ =i “izex) ¢ qit &=l =051 oo 41 |

(A) BOLT (B) TELL
(C) BELT (D) TALE
133. TS 71T St @2 Aigew 7 2l *<afl fofeee 59 |
(A) BOLT (B) TELL
(C) BELT (D) TALE
133. ST gRAMTEAH A7 ST ST grEl A1 93 AT Fgew! AR ?
(A) BOLT (B) TELL
(C) BELT (D) TALE
133. 39 ¥1sg 31 qg=™ L FeH IS Sufaren & ot 3R afed gl 18R § |
(A) BOLT (B) TELL
(C) BELT (D) TALE
133. Identify the word which features both the second and the fifth letter of
English alphabets.
(A) BOLT (B) TELL
(C) BELT (D) TALE

134. TIFIG *1<1 SRME I XA SIS TFEE = ?
(A) Sleeper (B) Lower
(C) Stopper (D) Upper
134. TP >[5 SBTEIIR 0 953 WETH SBYS 7 ?

(A) Sleeper (B) Lower
(C) Stopper (D) Upper
134. 9 QIEAT YTAFTT FIGTHRST AHTT FT137Td HIBISRT ?
(A) Sleeper (B) Lower
(C) Stopper (D) Upper
[
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134. ShI9 91 312 Y TR & G1Y Teferd TE 8 7

(A) Sleeper (B) Lower

(C) Stopper (D) Upper
134. Which word does not belong to the group with the rest ?

(A) Sleeper (B) Lower

(C) Stopper (D) Upper

135. B0l *7 fooae, FIMG! %7 SEIRE CICS g 123 ?
(A) Asia (B) Europe
(C) Australia (D) Africa

135. DI *Cwa M TG SR Sefzhel 73 2

(A) Asia (B) Europe

(C) Australia (D) Africa
135. TS TGl ATeT 9 WIS e Reil TRIST ?

(A) Asia (B) Europe

(C) Australia (D) Africa
135. IR WG] H & T T 976E G § foretar-erd 981 8 7

(A) Asia (B) Europe

(C) Australia (D) Africa

135. Of the four words, which one is not similar to others ?

(A) Asia (B) Europe
(C) Australia (D) Africa
i
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